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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180397
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861805891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

COBRA : ZKYOW : : HUMOUR. : ?
Options:

1 + EQIKQO

9 % EQIKQP

3. % ERJKRO

4. = FQIKQO

Question Number : 1 Question Id : 5861805891 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g a0 WIg O S A A0 W @ SE e W waod ¥, P o ¥ g avh Wy e 0 wHg @
wEod gl

COBRA : ZKYOW : : HUMOUR : ?
Options:

1. v EQJKQO



2 % EQJKQP

3. % ERJKRO

4. » FQJKQO

Question Number : 2 Question Id : 5861805892 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the number which is related to third number in the same way as the second number is related to first number.

2704 :52 ::5184:7
Options:

1. = 75

7 % 64

3 % 68

A & 72

Question Number : 2 Question Id : 5861805892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

97 FEA g S JrEl TEw § 36 S ¥ FerOd 8, 5w o ¥ gEl §eUr Uge §Em § wetdd g

2704 : 52 ::5184 . 7
Options:

1. = 75



4. v 72

Question Number : 3 Question Id : 5861805893 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = 552:143

7 % 664:255

3. % 567:323

4w T11:97

Question Number : 3 Question Id : 5861805893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yood HEAT T3AT H ¥ JF U Il ¥ §AF g, F9(a 394 § UF HelT gl 38 & v I

Options:

1. = 552 : 143

2 % 664 : 255



3. % 567 : 323

4. v 711 :97

Question Number : 4 Question Id : 5861805894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

DO
Chlie>

' 112

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

>
&>

&>
B>

Question Number : 4 Question Id : 5861805894 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25

g7 dfeus HHiadl # ¥ 9 Hpia I ST 37 MMHlT 3Hegg 1 9 FLr 872

Olle>
193/
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

>
>

Question Number : 5 Question Id : 5861805895 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:

1 = SYST : RQWQ



2 % PACK :IAYN
3« JACU:SAVH

A « FABR : PZYD

Question Number : 5 Question Id : 5861805895 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Feod e AT H F AT T i H TAT g, a1 37 8 T 37009 g1 $a7 & owd o]

Options:

1. = SYST : RQWQ
2 % PACK : IAYN
3. v JACU : SAVH

4. = FABR:PZYD

Question Number : 6 Question Id : 5861805896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures.

=|\Si

Problem Figures

Options:



4. =

Question Number : 6 Question Id : 5861805896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 SETous AT A W TE HPia oA [oT8ed HTHAET0T 92 H & 5 & AFfaar & FA 2|
Ical HFA

Problem Figures
Options:



Question Number : 7 Question Id : 5861805897 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out:
Options:
1. » Microbiology

2 Chronology

3 » Biochemistry



4. » Physics

Question Number : 7 Question Id : 5861805897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TN Feod eg JEAT A W A7 T ik § THA ¢, ol 394 § TF 7o g1 a8 & fawd o)
Options:

1 TEHESTE-fawE

2. v FawH =

Question Number : 8 Question Id : 5861805898 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice, the faces of which show number 1 to 6, are shown below. Which number is on
the face opposite the face showing 1?

A
""ETH““ <>
6 3 2
o - Hl‘l‘-

'\-\,‘_-,._’.-J

Options:

1. = 2

2.v¢ 3

3. % 5



4 % 6

Question Number : 8 Question Id : 5861805898 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A v g1 Srew () H ar et feufoat & % E, e v W1 @ 6 g% B wEe & g
g1 1 f&@T @ SolF F AR G ol 9T Hid O & &7

e =
”/; =T i
K“*-‘Mf H\-\
6| 3 2| 1
x,f'”;-f ~

Options:

1. = 2

2. v 3

3 = b

4. » 6

Question Number : 9 Question Id : 5861805899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

Options:
1 % Onlyland2

? % Only2and4

3  Onlyl . Zand4

4. % Only2 3and4

Question Number : 9 Question Id : 5861805899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



F9 Yeod ofie & Bies AT AT §, 99 I1EW (W) F UTew H ¥ i @1 Y g9 TehaT 87

Options:

1. » a1 32

2 x Faa 23R4

3 o FEA1, 23R4

4 % FEF2, 3 3R 4

Question Number : 10 Question Id : 5861805900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Himangini started walking from her home and went 38 m towards East. Then she took a left turn and walked 57 m to
reach a bank. From the bank she goes 17 m towards East. After that she took a right turn and went 17 m. She finally
took a right turn and went 25 m to reach her shop. What is the shortest distance between her home and her shop?

Options:
1. = 40m



o
.
o
B

Question Number : 10 Question Id : 5861805900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ;ﬁmﬁm@wmmﬁr%&ﬂtmmq&%mm%lmﬁ
m g3 #r 37 T B 3T

17 i Iorar &1 39 & 98
ﬁ?ﬁﬁ?ﬂﬂ#ﬁaﬁawd qﬁ'wdl FI
Options

1. = 40 m

2 % 45 m

3 ¢ bB0m

d = 55 m

Question Number : 11 Question Id : 5861805901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark in the given matrix?

8 | 6 |2]68

7 3 |6] 48

6 4
Options:
1. = 38

tn
o

17 1
Hgﬁrﬁ'aﬁ'{aﬁlﬁrgchmwulgqﬁ#ﬁ?Z m ool



? & 35

3 % 32

4 = 41

Question Number : 11 Question Id : 5861805901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yeod HTEg A 93 e & T W w9 @ §=w H7wei?

8 6 |2|68
7 | 5 |6|48
6 4 |5| ?

Options:

1. = 38

2. v 35

3w 32

4. = 41

Question Number : 12 Question Id : 5861805902 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Eight friends A, B, C and D, E, F. G and H are sitting around a round table facing the centre and at equal distance from
each other. G is third to the right of D. H is at equal distance from A from both right and left ends. F is second to the
right of H. A is third to the right of E. C is second to the right of B. Which of the following statement is NOT correct?

Options:



1. % Cis sitting between G and H.

2 % CandD are facing each other.

3« Fissecond to the left of B.

/. » B andE are facing each other.

Question Number : 12 Question Id : 5861805902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

315 ¥ A, B, C 3R D, E, F, G 3R H o e A7 F 718 &g i oo 3@ g0 & @y &
FAH G WS E1 G, D % g% 3 6 T Wl H, A ¥ &% AR a5 gl & & §A g0 W
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Options:

1. = C, G 3k H=* & & &1 1

2« CaﬂTwaa?m%?fl

3 o F. B %K 3N W T T &

A« B 3R E T gW F THA 35 E

Question Number : 13 Question Id : 5861805903 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Eight persons P. Q. R, S, T. U, V and W are sitting around a circular table at equal distance from each other facing the
centre. If V 1s sitting in South-east then which direction is T facing?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.



Options:
1. South-west

?  South
3. West

4], North-east

Question Number : 13 Question Id : 5861805903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e FFT P, Q R, S, T, U, V3R Wt 7l B & -8 &g 1 % 3@ g0 U g § 7A
g WS &) TE V SEogE R F 7, A T BFw ferm F @7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. af@ur-afes

2. &

3. 9f¥EH

4, T

Question Number : 14 Question Id : 5861805904 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Five students Akshita, Anusuya, Madhuri, Sneha and Sripada are plays one of five games team i.e. Football, Volleyball,
Cricket. Hockey and Kabaddi. Sneha does not play hockey and cricket. Akshita does not play football and hockey.
Madhuri plays Volleyball. Anusuya does not play hockey and cricket. Which game is played by Sripada?

Options:



1. = Kabaddi
? % Cricket

3  Hockey

/. = Football

Question Number : 14 Question Id : 5861805904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i BT AT, FTEaT, AL, FE AR Ser 9 At Feard, stenaie, e, ger A Hassr A

| el W &1 FHer T Trdhe 7T Qordr ¥ H@aT Searar 3T @Ry 7E Qo §
m%ﬁ@wﬁlalmgﬁaﬁtﬁmaﬁm%ll FlT & T Wi 87 '
Options:

1. » ass

2w e

Question Number : 15 Question Id : 5861805905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that represents the correct water image of the following combination?

PRACTICAL

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.



Options:

1. bBEVILIOVT

2. JAJITOAAG

3. bBYCLICVT

4. dBVCLICVT

Question Number : 15 Question Id : 5861805905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S HTFHaA H T Hid T HHId Jeod HFd H EU0T ST 2ATdr g2
PRACTICAL

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. bBVYILIDVIT

2. JAJITOAAYG

3. bBVCLICVT

4, dBVCLICVYT

Question Number : 16 Question Id : 5861805906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four statements are given, followed by three conclusions. The symbols used in them have meanings as follows:
P @ Q means P is neither smaller than nor greater than Q.
P & Q means P is neither greater than nor equal to Q.
P # Q means P is neither smaller than nor equal to Q.
P % Q means P is not greater than Q.
P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.
Statements:

LH#Q

L.Q@Z

. Z# L

IVL&EY

Conclusions:

I. H#L
II. Z#H
. Q& Z

Options:
1. « Only conclusion I is true.

2 Only conclusions I and II are true.

3 » Only conclusions I and III are true.

/. » Only conclusions II and III are true.

Question Number : 16 Question Id : 5861805906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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P&QHRATEFP TN QX 937 § 3k 7 Tus< &

PH#HQH AT EF P T Q ¥ oer § 3k 7 =R 2

P% Qar 9 &F P, Q & 57 78T ¥

P$SQaF 37 ¢ &F P, Q@ o 75 &1
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. H#Q

.LQ@ Z

. 2 # L

Options:

1 o &9 sy | @@ g

2y hae vy | 3R 1 =@ g

3.« ae Ay | 3R I T g

4w« Faw fFsEy || 3R T g

Question Number : 17 Question Id : 5861805907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the
given statements.

Statements:
All pen-drives are chargers.
Some pen-drives are televisions.

Some televisions are radios.

Conclusions:
I. Some chargers are televisions.
II. Some radios are pen-drives.
III. No radio is pen-drive.

IV. No charger is television.
Options:
1. » ©Only conclusion I and IT follow.

? % Either conclusion II or III follow.

73 Only conclusion I and either IT or III follow.

A = All conclusion follows.

Question Number : 17 Question Id : 5861805907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 Pae AT | AR Il O = g

5y TN IAR A W PG FFIOT FIA

3 frd | 3T 1l 7 11l F & I TF HTEOT HT ¢l

4w Tl forsshd 3EROT N g

Question Number : 18 Question Id : 5861805908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five doctors. A, B, C, D and E, and five engineers. P. Q. R, S and T,
such that there are at least four doctors in the team and it meets the following criteria:

i. Cand S cannot go together.
ii. A and R must go together.
iii. C and Q must be together.
iv. D and T cannot go together.
v. C and D must go together.

‘Which of the following teams can be formed?

1. BSQCTD
2. EDRQBC
3. BTDECQ
4. CAQRBD
Options:
1. « ©Only4
? % land2
3 % 3and4
4] =% 2and4

Question Number : 18 Question Id : 5861805908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST Sleetl A, B, C, D IR E IR T SI@mi P, Q R, S 3R T # & & &F & 5§ ¥R & I
e & € & &F # ®A & F47 9n sieet @ 3 ol Awes @ v

i.  C 3R S v ary FFF g Tl
i. A 3T R T @y @ o
i. C 3R Q uw @y g+ Wiz
iv. D 3R T v @y 745 &1 Tod|
v. C 3R D us @y g =fgo)

S ¥ HiaT A ered vk &F a7 Hebal &7
1. BSQCTD
2. EDRQBC
3. BTDECQ
4. CAQRBD

Options:

1. v Haa 4
7w 13k 2
3w 3 3T 4

4. = 2 AT 4

Question Number : 19 Question Id : 5861805909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a class, Sanjay is ranked 11" from the top and 271 from the bottom. Can you tell how many students are there in the
class?

Options:
1. = 32



Question Number : 19 Question Id : 5861805909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh FET H, 900 3 O 117 3K A= ¥ 279 = W 81 aF 99 #¢ & w7 7 ogs o7 27

Options:

1. = 32
2 = 35
3. v 37
4. = 40

Question Number : 20 Question Id : 5861805910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anand is the paternal uncle of Babeeta, who is the daughter of Champa. Champa on the other hand is the daughter-in-
law of Pramod. How is Anand related to Pramod?

Options:
1. % Father

? « Son



3. % Brother

4. % Grandson

Question Number : 20 Question Id : 5861805910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?ﬂwﬁamﬂwﬁ,a’rﬁmaﬁraﬁh@ﬁmwmﬁﬁ%imwmmﬁamw

Options:
1. = frar
2. v 8

4 = qrar

Mental Ability2
Group Number : 2
Group Id: 586180283
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Mental Ability2

Section Id : 586180287

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180398
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861805911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

Options:




/|

CItUTE

Question Number : 21 Question Id : 5861805911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S ARl H T Hid T HHId Jeod HFd HI EUT i AT g2

Options:

ItV 2E




Question Number : 22 Question Id : 5861805912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

CDSE54ft34p2

Options:

1. « SqbEthededd

5 . SqREMNSIAD

5 . CGAEMNIIRAD

4.~ SqhERREIRAD

Question Number : 22 Question Id : 5861805912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd THE HT WE 90T BfF T, 3PN g ¥ g A T FeaTely guoT IW@1 AT gl

CDSE54ft34p2

Options:

1. = Sqbefide3edd

5 . SqhERNSIaD

3, (ghERtRIQ)

4 . SqbEfRIIRaD



Question Number : 23 Question Id : 5861805913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A) %6&34HZ@I%SH@* & #
(B) %6&34#¥@4%SS@*&"#
(C) %6@34#@4%SE@* &N
(D) %6&344@4%SE@* & #
(E) %6&844#H@A%SH@™* & #
(F) %6&34#@4%SE@* & #
(G) %6&344@4%SE@* & #

(H) %6&344@4&SE@* & #

Options:
1. % B.CandE

2 % A CandD

3 % B.FandH

4 » D.FandG

Question Number : 23 Question Id : 5861805913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A HE TAH-TEN & Wg v e € s ¥ A9 ve A €| Rege gEw & wAg 99 #

(A)%6&34E@3%SH@* & #
B)%6&34#@4%SS@*&#
C)%6@34#@4%BSE@M* & #
et e W
%BO6&IAADMA%SF@*&NH
et
(E)%6&B4#@4%SH#@* & #
(F)%6&344@A4%SH@* &4
(G)%6&344@W4%SH@* & #

(H) %6&345#@4&SHE@* & #

Options:

4 + D, F3IRG

Question Number : 24 Question Id : 5861805914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the given figures, when fitted into each other would form a hexagon? Select an appropriate combination from

the given options.

[N
=SPLS

Options:



1. « ABCD
7 % ABDE
3. % CDEF

A » ADEF

Question Number : 24 Question Id : 5861805914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s @ 5w ampfar & & gt # e @ W TF AT s Yaoa eedl # # wHET v

SN
[P

Options:
1« ABCD
2 %« ABDE
3« CDEF
4. «~ ADEF

Question Number : 25 Question Id : 5861805915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the diagram given below, the circle stands for ‘Boys’. the triangle stands for ‘Students’, the rectangle stands for *Part
time workers’, and the square stands for ‘Hostellers’. The numbers in different segments represent the number of
persons.

a0

. ¥

/=N

0 0N, )

12

117

61

Which of following statement is NOT correct?
Options:
1. % The number of boys who are students and hostellers but are not part time workers is 9.

? % The number of boys who are students and hostellers and part time workers is 80.

3 The number of boys who are part time workers but are neither students nor hostellers is 70.

/. % The number of boys students who are part time workers but are not hostellers is 66.

Question Number : 25 Question Id : 5861805915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Waed NG A, Ied TP F 2T g, T TIF HT U g, A ‘HFIfop FAANT H geAtar
¢ 3t =37 ‘orEEE # EaarEr # Glar &1 HeET-3eET Ter T &Y 98 §EAY eafeddr s HEdT W
g &

a0

PSR

El = T

ol AN T

117

61

SAH ST T FUF el 7ol 87



Options:

1. =
UH oSer Fr TEAT 9 £ ST o £ 3R o # 'y € ofee e e F8T 2

2. =
UF TS #T FEAr 80 ¥ I o1 £ 3R urEew # 'y T Ak dvefes A

3. v
TH =R HT GEIAT 70 § T 30FIToF FHANT & dfFd g 7 ar oF § 3T 7 & oEEy 7 B 2

4. =
VY o= T GEAT 66 § JT 1T ¢ 34T 3eETTas a1 87 § ofhd 3 SEET & 727 &d &)

Question Number : 26 Question Id : 5861805916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

Figure-X

Options:



Question Number : 26 Question Id : 5861805916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR @ 98 AP o S AP X F ATTfiE P

a]

HIPTT X

Options:




Question Number : 27 Question Id : 5861805917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Options:

1.~



3. %

-

Question Number : 27 Question Id : 5861805917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= @ F T Al A A & oS ety ded B o e

Options:

1. ¢

Question Number : 28 Question Id : 5861805918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What will be the value of the following equation if ‘+~’ means 'addition’, ‘+’ means 'subtraction'. ‘—' means
'multiplication’ and ‘** means 'division'?

28%x4-9+11-2=7
Options:

1. =

L
12

2.v 54

Question Number : 28 Question Id : 5861805918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S FHIRIOT 1 A 94T H AG H H FT AT B, H FHT geT §, - AT O § AT X @

28x4-9+11+2=72

Options:

1. = 52
2. v 54
3. x 56
4 = b8

Question Number : 29 Question Id : 5861805919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A + B means ‘A is brother of B’
A — B means ‘A is mother of B’
A x B means “A is husband of B’
A + B means A is father of B’
A § B means ‘A is brother of B’

If X +J+Q x V—L, then which of the following statement is correct?

Options:
1. = ITis father of V.

2 % L ismother of Q.
3 Xis grandmother of L.

4. » J1is paternal grandfather of L.

Question Number : 29 Question Id : 5861805919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+Ba& 3T g A BF AT
A-BF 3T LA BFr Aar &
AxBa AT A B aad g
A+B&FR AT T ABF B ¢
ASBFT HTEA BT ss g

afg X +J+QxV-L§g a5 ¥ HiT T FI9 TEr 87

Options:

1 % J, V@ Rar g

7 % L, Q &r AT B



3 x X L&reer g

4. » J, L T

Question Number : 30 Question Id : 5861805920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A question is given. followed by four statements labelled L. II. ITT and IV, each containing some information. Decide
which of the statements is/are sufficient/necessary to answer the question.

Question:

How is L related to K?

Statements

I R is wife of Q.

II. L is maternal grandfather of O.

III. QisK’s father.

IV. O is brother of K.

Options:

1. » Statement IT and IIT together are sufficient.

7 Statement IT and I'V together are sufficient.

73 x Statement IL IIT and IV together are sufficient.

/. » Allthe statements together are necessary.

Question Number : 30 Question Id : 5861805920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



R ae geast |, 11, 11l 3R IV S & dga 9% A Re e §, 93w § 5o 7 5o e & 7§
a7 FL & 92 T 3o & & T a8 T FiT AV FAT I/ 2|

PLEH

L, K & & geafaa &7
FYA:

. R, Q T 9=t &

. L, O & am &

. Q, K& forar

V. O, K&FrT 2 &

Options:

1« @YU 03K I THary 9o gl

2 o ®ua |l 3R IV wRary @ g

3.« ®U I, Il AT IV Tware g4 g

4.« T FUT THAY T g

Question Number : 31 Question Id : 5861805921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘PASCAL’ is coded as 102 in a code language. how would ‘MANUAL’ be coded in the same code language?
Options:

1. « 97

7 s 98

3. % 99



A % 100

Question Number : 31 Question Id : 5861805921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ToreT F1E aeT F ‘PASCAL’ &1 102 s fomar ram &, ar 387 Fis a1 § ‘MANUAL' &7 &7 FiE
T FTe?

Options:

1. v 97
7 = 98
3 0% 99
4 % 100

Question Number : 32 Question Id : 5861805922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

238+-119+14 %17 —208 =107
Options:
1. % 208and 119, +and—

? x 208 and 14, —and =

3 & 119and 17, +and x



4. s 119 and 14, + and =

Question Number : 32 Question Id : 5861805922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt 3R REa % 57 TIA F W A ¥ A A 379 TAH HOH F o W A" e aw
ITOTEIT THRIOT H Tar T T HL?

238 + 119 + 14 = 17 - 208 = 107
Options:

1. » 208 3T 119, + 3K -

D« 208 3R 14, - 3R x

3. » 119 3R 17, + 3R x

4. = 119 3T 14, + 3R x

Question Number : 33 Question Id : 5861805923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 640 students like three different fruits i.e. Mango, Pineapple and Grapes. Only 20% like all three fruits. The
number of students who like any two and only two fruits is 25% of the total students. The number of students who like
Pineapple alone is 127. What is the total number of students who like Mango alone or Grapes alone?

Options:
1. = 215

7 % 220

3. ¢ 225



A % 235

Question Number : 33 Question Id : 5861805923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FoT 640 BTEN FI HH, HAAH, X F Feol THG 81 Haor 20% & Tl For T60g 1 Fedl ar ar Faa
&l Tal I THG HLe Aol OIF! T HEAT HoT HEAT 1 25% 2| HIT IHAAH THEG A Aol Pl HEAT
127 3| %ad HH, I Hadl 3R THG FIA JTel Ol H TE&T AT HL?

Options:

1. % 215
2w 220
3. v 225
4. = 235

Question Number : 34 Question Id : 5861805924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five objects K. L. M. N and O; K is nine times heavier than L: M is eight times heavier than N; O is three times
heavier than L. O is two and a half times as heavy as M. Which of the following the statements is NOT correct?

Options:

1. ®= Ois 20 times heavier than N.

2 L is lighter than O.

3 Oislighter than M

/. % Kis 3 times heavier than O.



Question Number : 34 Question Id : 5861805924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TEET K LM NROF I K LAA T emlr & M, N ¥ 3@ I ol §; O, L ¥ & =7
7 ¥1°0, Mﬂmmmélﬁﬁﬁﬁﬂmmvﬁﬂﬁéﬂ

Options:

1 % O N# 20 7ar o7l 3

2 % L O % ge gl

3. v O, M ¥ gear gl

4 » K OF 3 I sl

Question Number : 35 Question Id : 5861805925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. A says to C, ‘If I give you 14 rupees, I will
have equal amount of money as B have.” B says to C, *If I give vou 14 rupees. we both will have equal amount of
rupees with us.” C says to A. ‘If you give me 12 rupees, I will have equal amount of rupees as D have.” If A and C
together have total 214 rupees, how many rupees does C have?

Options:
1. = 84

2. v 86
3 % 88

4 = 90

Question Number : 35 Question Id : 5861805925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR @EFT A, B, C 3R D F I I F HeET-300 G 1 A, C ¥ FEAT &, “WR A gE 14 T
g g, @ A 9H B Tae ¥92 & A B, C & Fgam ¢, 3R A FFE 14 T § §, A gAR 9
FUE 94 B ST C, A ® FEl 8, ‘R gA J9 12 ¥4 ¢ @, a A 9 D Gaw & & seErr
ofg A AR C 3 & 918 Fo 214 TH E, @ C & 98 fohas &9 72

Options:

1. % 84
2. v 86
3 « 88
4 % 90

Question Number : 36 Question Id : 5861805926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out:
Options:
1. % Lethargy

? % Inertia

3.« Exuberance

/. % Drowsiness

Question Number : 36 Question Id : 5861805926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd IR A A ¥ A T RE & TAA ¢, Fa0h T 3o gl 5K & [awH I

Options:




1« FEA (Lethargy)
2w =l (Inertia)
3. » 3T (Exuberance)

4. » 3eerda (Drowsiness)

Question Number : 37 Question Id : 5861805927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out:

DD

1
Options:

1. %1

[

2. %

Question Number : 37 Question Id : 5861805927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& 7% TR HPfaA H F AT TF alF ¥ FA g, Fah U Herdl gl FAH & FuA I

1 2 3 4

Options:

Question Number : 38 Question Id : 5861805928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?
37,38, 38, 40, 7, 83
Options:

1. = 36



Question Number : 38 Question Id : 5861805928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ faeT I S g@er # voF ey (7) & wér giaraia e
37, 26,38, 40, 7. &3

Options:

1. = 56
2 = 70
3. = 76
4. v 80

Question Number : 39 Question Id : 5861805929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

61, 65, 76, 106.?
Options:
1. = 171

? % 172

Question Number : 39 Question Id : 5861805929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T faweT g S g@er # geF Reg (?) # " yiawwig s
61, 65, 76, 106, ?

Options:

1. % 171
2 % 172
3. v 173
A = 174

Question Number : 40 Question Id : 5861805930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

86, 98, 127, 179, 261,2
Options:
1. v 381

7 % 382
3 % 383

A = 384

Question Number : 40 Question Id : 5861805930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er 7 W foeg (7) #F wEr gioria FEm|
86, 98, 127, 179, 261, ?



Options:

1. « 381
2 % 382
3« 383
A % 384

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Awarenessi

3
586180284
0

0
No
No
0
20
No
Yes
0

0

General Awarenessl

Section Id : 586180288

Section Number : 1
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180399

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 5861805931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which biome has permafrost as its defining feature?

Options:

1. v Tundra

2. » Savannah

3. = Deciduous forest
4. » Mangroves

Question Number : 41 Question Id : 5861805931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TURIT T&d, Fg Sa& T (biome) T T Aevar &7

1p.J§T
2. = Hdlell
3. = gUTYTAT del
4. = Feamg

Question Number : 42 Question Id : 5861805932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lion-tailed Macaque is the key faunal species of the
Biosphere Reserve.

Options:

1. = Dehang-Debang
2. » Sundarbans

3. v Nilgiri

4. = Manas

Question Number : 42 Question Id : 5861805932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2 ST U aTell HehTe, ST RIS &1 1 e Teg
EEIGERS

Options:
1. * CgET-2aTer
2. % Holee
3. v dATlERT
4. = AT

Question Number : 43 Question Id : 5861805933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the India State of Forest Report, 2017, in terms of area
under forests and tree cover, India is ranked in the
world.

Options:

1. v 10th
2. = 12th
3. » 14th
4. = 15th

Question Number : 43 Question Id : 5861805933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g Fefd ROE 2017 & 3HIAR, gaf AT ey resiied
&7 & deh # [deg & IR &1 T gl

Options:

1. ¢ 10ar

2. = 12ar
3. = l4ar
4. = 15aT

Question Number : 44 Question Id : 5861805934 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following organizations prepares Red List Index
(RLI) which “provides a clearer view of real trends within
different taxonomic groups, and for biodiversity as a whole’?

Options:

1. v IUCN

2. = United Nations Environment Programme

3. » Global Environment Facility

4. = International Union for the Protection of Nature

Question Number : 44 Question Id : 5861805934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foieT & @ +iT O1 TorseT 35 folee 3399 (RLI) X +4T &,
S fafdieel ATHTEON FHET H arEdidsh FAT@ 3 AT §9 H
Siaafaudr & T T TUSe 79T eI Rl &7

Options:

1. v IEJETA

2. » TIF TS YA FAHA

3. » gTeger TATEIOT THS

4. = Upid F TIETOT & RIS T

Question Number : 45 Question Id : 5861805935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With an aim for making the learning as well as the teaching
process interactive and popularize flipped learning as a
pedagogical approach, the Union Ministry of Human Resource
Development recently launched:

Options:

1. = e-Pathshala.
2. v Operation Digital Board.




3. » Operation e-Classroom.
4. » DIKSHA.

Question Number : 45 Question Id : 5861805935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AMTTH Tur Rregor vishamaft i AdfshdIcAs Falel, Td2T TFelts
offleT Rl TEI6TT emedy fafer o ®9 & oliepUT Sl o 38527
O FET AT 1T [T AT o &l & & FT
o R

1. % S-OTSRITeT

2. v e Bieea a8
3. = 3O S-FaTaEA
4. = &

Question Number : 46 Question Id : 5861805936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Traditional Bagru block printing technique belongs to the
Bangru village in:

Options:

1. ¥ Rajasthan

2. » Gujarat

3. » Odisha

4. = Chhattisgarh

Question Number : 46 Question Id : 5861805936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FETE STUT BUTS dehaileh, H FETE G O

gafaa gl

Options:




1. v TSAEATA
2. % SISREG]
3. = 3fgem

4. % BcdITIG

Question Number : 47 Question Id : 5861805937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The state of has launched “Café Scientifique’, an
initiative to promote science among public in the year 2019.

Options:

1. = Goa

2. v Kerala

3. = Maharashtra
4. » Karnataka

Question Number : 47 Question Id : 5861805937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl & & [aaATe &l ek U &elta & felv T o
2019 # 'S @Efefther dATH® Y8d &l I T

Options:

1. = angr
2. v Rl

3. » HABNISC
4. % hallceh

Question Number : 48 Question Id : 5861805938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Darwaza Band -Part 2, a campaign recently launched by the
Union Government, is aimed at:

Options:



1. = creating awareness about cyber security.

2. = Improving law and order conditions in the villages across
the country.

3. v sustaining the open defecation free status of villages
across the country.

4. = promoting awareness about communicable diseases.

Question Number : 48 Question Id : 5861805938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e, TR SGRT BTel &1 H UF U a0 Ueh 3T alarel sie-
HET 2, T A gl

Options:

1. « TTFeT &I &+ TR H ARERAT Folol el

2. « 39T 9 H anal A Flelel aEAT T FufoRl 7 gum e
3. v 3 T A Al T Fol A o FqFa [Pl s SgTer T5=T]
4. » ORI VI & TR A JAPTERAT TR FIAT

Question Number : 49 Question Id : 5861805939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Mughal administration, what did abwab
stand for?

Options:

1. v Miscellaneous cesses
2. = A noble

3. = A revenue collector
4. = A clerk

Question Number : 49 Question Id : 5861805939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl TITHeT & Tesl H, 3feare T a7 37e g7

Options:




v By 3Rt
« Uh Felld
oo
« Woh ITolEd 3TTURNT
x Ueh Tolldeh

ol

Question Number : 50 Question Id : 5861805940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs is correctly matched?

Options:

1. ¥ Mimamsa sutra — Jaimini

2. » Brahma sutra — Uluk Kanad
3. » Vaisheshik sutra - Badarayan
4. » Samkhyakarika - Shankara

Question Number : 50 Question Id : 5861805940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farT & @ oG N2 7 Ty fAera Tram aar §72

Options:

1. v AAET FA-SHTHAT

®x §cH JA-oelen entlig

2.
3. * JeI¥h FA-STIT]
4. % TTEIRIIRT-2THR

Question Number : 51 Question Id : 5861805941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct about Ilbert Act?

Options:
1. = It enhanced the age limit for Indians to appear for Indian
Civil Services exam.



2. = It ended the discrimination against the Indians in
military offices.

3. v It enabled the Indian magistrates to try Europeans.
4. = It relaxed restrictions on the Indian press.

Question Number : 51 Question Id : 5861805941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Solae HTATITH & desl H, faFeT # & i AT FUol Tar &7

Options:

1. * 3He AR ok JaT W& H AR F 67 ol 8
3 AT A ghg Hl

2. % 50 o¥ TSI W ARG 8 ohaT S arelr Agsta
AT TR

3. v 30 AR AfSIEEel &l JUMUAT & HheH Fold &
AR Teu|

4, = I HRAT UF 9T gfadeet hr ferferer semam

Question Number : 52 Question Id : 5861805942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The creation of Tilak Swarajya Fund 1s associated with which
of the following movements?

Options:

1. = Baradoll Satyagrah

2. v Non-Cooperation Movement
3. » Civil disobedience Movement
4. = Quit India Movement

Question Number : 52 Question Id : 5861805942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forerer TaUTsg Y T 91&d [aFT # O hT 3 O gefad
&7

Options:

1. % SNl TcATIE
2. v 3OEANT 3TareleT

3. = HAaAT JTAT e

4. » ART BIST HETelel

Question Number : 53 Question Id : 5861805943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the followings headed the Lokpal Search
Committee?

Options:

1. » AS, Kiran Kumar

2. = Dinesh Kumar Jainare
3. v Ranjana Prakash Desal
4. = Arundhati Bhattacharya

Question Number : 53 Question Id : 5861805943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AFT # O Traa olehuTel T gfafa fr aregerar fre

Options:

1. » v.od. fRor $AR
2. » fealer $AT ool
3. v ISTalT WehTel 25
4, = IEYTT AL

Question Number : 54 Question Id : 5861805944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following panels submitted its report on data
protection in 20187

Options:

1. v Justice Srikrishna committee

2. = Justice Ramakrishna Committee
3. # Justice Alyyar Committee

4. = Justice Nagarajan Committee

Question Number : 54 Question Id : 5861805944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # O T UoTol of STerT TI&or 9T 2018 H 39ar RUe
TE I

Options:

1_@?&@‘%%@3@%
2. % TAIANT THSSUT FiATT
3. = FHG 32AT FiATd

4. = AYHIA ARSI HIATT

Question Number : 55 Question Id : 5861805945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By April, 2019, how many Indian states had bicameral
legislatures?

Options:

1. %5
2.% 6
3.v 7
4. %9

Question Number : 55 Question Id : 5861805945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3er 2019 T Tohdel HRAIT Tsdl H Tegacary [auriee or?




Options:

1. = 5
2. = 6
3. v 7
4. = 9

Question Number : 56 Question Id : 5861805946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles of the constitution empowers
the Parliament to create or abolish the second chamber in a
State?

Options:

1. v Article 169
2. » Article 170
3. = Article 171
4. = Article 172

Question Number : 56 Question Id : 5861805946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTaeTel &7 faFeT & O i @ magne.‘s»q TS ki TohdT T H
Teadi Hael TUTUT AT HATCA el bl T UaTel hldl &7

Options:

1. Jﬁﬂb_a}-_c«"lGQ
2. = 3aoe 170
3. = 3eae 171
4. = 3o 172

Question Number : 57 Question Id : 5861805947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following articles empowers the Union
Government to declare national emergency on the ground of
war or external aggression or armed rebellion?

Options:

1. v Article 352
2. » Article 356
3. = Article 360
4. = Article 365

Question Number : 57 Question Id : 5861805947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & FieT AT 3eede, g TRR F JE IT T THAV]

T TeRA Tagig 1 ufd & UsE 3muTdeRrer Glisa hdal hl
eifdFd WeTal hddl &7

Options:

1. &?3-1@1:,_933352
2. » 3eoE 356
3. » 3eTSE 360
4. = 3eIToE 365

Question Number : 58 Question Id : 5861805948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles declares the equality of
opportunity in matters of public employment a fundamental
right?

Options:

1. = Article 14
2. v Article 16
3. = Article 17




4, « Article 19

Question Number : 58 Question Id : 5861805948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer 7 & e AT e, dolies fadisler & AFEel H
TG T GATATT I Tk Aifoer 3T9r aifva sar &7

Options:

1. = 3efeae 14
2. v 37eeoe 16
3. » 3Hog 17
4. = 37TToE 19

Question Number : 59 Question Id : 5861805949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tiger Woods, who was recently conferred the US Presidential
Medal of Freedom, belongs to:

Options:

1. v golf

2. » football
3. = snooker
4. = baseball

Question Number : 59 Question Id : 5861805949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gTel &7 H TANCRT Tsgufad @ Faaadar Ugeh Tt e dTel
I g5 " Fafad gl

Options:

1. v MeH
2.&;&3‘1‘?

3. * Tl



4. = SgdTel

Question Number : 60 Question Id : 5861805950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the month of January, 2019, the distinction of becoming
India’s youngest Grand Master was earned by:

Options:

1. * Dinesh Sharma
2. = Praggnanandhaa
3. v D. Gukesh

4. = Parimarjan Negi

Question Number : 60 Question Id : 5861805950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATE StetadT 2019 & ZaNT HR & Fed gar dsAE
T [Edre vied fohar I

Options:

1. = Teater erAT
2. % YATeiar
S.Jﬁ.ﬁﬂ

4. = GRLATST adir
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Group Id: 586180285
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Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
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General Awareness2

Section Id : 586180289

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180400
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861805951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the final match of Sultan Azlan Shah Cup hockey, 2019
India was defeated by:

Options:

1. = Malaysia

2. v South Korea
3. = Canada

4. = Poland

Question Number : 61 Question Id : 5861805951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feodlel 3TeTelel AME F glehl 2019 o FIsdel HT H T I
A gTaa fearl

Options:

1. = HeTR=T
2. v EI&or IR
3. = ShellsT

4, = Ylolg




Question Number : 62 Question Id : 5861805952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Recently Prayagraj Kumbha Mela, 2019 found a place in the
Guinness World Records in three sectors. Identify the sector
in which was NOT included 1n it.

Options:

1. = Largest traffic and crowd management plan

2. = The biggest painting exercise of public sites under paint
my city scheme

3. = Biggest sanitation and waste disposal mechanism

4. v Construction of the largest number of temporary
structures

Question Number : 62 Question Id : 5861805952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 81 H 3RNToiad TIPRTS g‘?ﬂﬁwzmgﬁsﬁaaﬁrﬁ
farelsr Taea errg &0 39 87 f Riegd ® Y 298
giFATerd T8l &

1. = god ere Irarra g §fis ueye Jiete

2. = Ue AT TG ATar o AT Adsiielsh el 9T Fad
3. = god §3r Taoodr 3T 3UfRse fauere qomelr

4. v GATF F&IAT A IEART A3 T TAATT

Question Number : 63 Question Id : 5861805953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Krishnattam is a folk theatre form in the state of

Options:

1. v Kerala
2. » Andhra Pradesh



3. = Tamil Nadu
4. = (30a

Question Number : 63 Question Id : 5861805953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FSUTCTH, T T ol AT &9 &l

Options:

1. v el
2. % 3T uder
3. « dﬁ:lcﬂa-llg

4. = IET

Question Number : 64 Question Id : 5861805954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous painting entitled, 'Lady in The Moon Light’, was
painted by :

Options:

1. v Raja Ravi Verma

2. = Amrita Sheragil

3. » Abanindranath Tagore
4. « ML.F. Hussain

Question Number : 64 Question Id : 5861805954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

uiE i W8T gl g AeTelrse' & gan fafda ferar
AT

Options:

1. v T U gAr
2. = 3T I
3. = 3Efalgarer &MY



4. = TH.UWF. Jazt\?r

Question Number : 65 Question Id : 5861805955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following water body separates Sicily from Italy?

Options:

1. = Strait of Gibraltar
2. » Strait of Bonifacio
3. v Strait of Messina

4, = Strait of Bosporus

Question Number : 65 Question Id : 5861805955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fet 7 & Fid G Tl o, AT F7 gell 8 g2 T
&7

Options:

1. » [STeey Faare
2. = SIfahiaar STerafer
3. v AT Seafe

4, = IR STerET

Question Number : 66 Question Id : 5861805956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of tropical deciduous forests in India, which of
the following statements is NOT correct?

Options:

1. = These are also known as the monsoon forests.

2. » These are found in the region with average annual
rainfall range between 70-200 cm.

3. v These forests are also called Shola forests.



4. = Tendu, palas, amaltas, bel, khair are some of the common
trees of these forests.

Question Number : 66 Question Id : 5861805956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # 3curhieadim gofurdy gatr & gt A, e # O sia
AT el el a8l &7

Options:

1. % Solohl ATl Tell & FT H T STl ST

2. = T 70-200 cm 3TT ari¥<s gyl arer &4r & 9T 19 &

S.Js?gaﬂma?raﬁmﬁ%“l

4. = TG, TR, AT, o, T, ol Toil H YT SAlei ATed
T 97T 93 8

Question Number : 67 Question Id : 5861805957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cities houses Head office of the Central
Arid Zone Research Institute (CAZRI)?

Options:

1. v Jodhpur

2. » Sambhalpur

3. » Udaipur

4. = Shri Madhopur

Question Number : 67 Question Id : 5861805957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

far & @ Tor a8t A FE UoF TRET SeqauTe Tt
(CAZRI) T &2

Options:

1. v Siraqe



2.&#343@?
3. » 3EIAW
4.w&ﬁm%ﬁﬂfg

Question Number : 68 Question Id : 5861805958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IgaTd foTer of &Tel 87 H o HIS3 T g5 AT

Options:

1. = Ofad &

2. v IH d+

3. % UIBIUHAT s

4. = GEHGHIING Sh

Question Number : 68 Question Id : 5861805958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ravneet Gill recently assumed the office of the CEO of:

Options:

1. » AXis Bank
2. v Yes Bank
3. = HDFC Bank
4. = ICICI Bank

Question Number : 69 Question Id : 5861805959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following committee was set up for faster
resolution of stressed assets?

Options:

1. v Sunil Mehta Committee
2. * Baba Kalyani Committee
3. » Amitabh Kant Committee



4, « N, Chandrasekharan Committee

Question Number : 69 Question Id : 5861805959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SGICEESS Qﬁﬁmﬁﬁﬁﬁmﬁ%@%ﬁﬁﬁaﬁﬁﬁ

Options:

1. v Faitol AgaT FiATT

2. = SET hedolr ATATT
3. = 3tfAanT s @fAfa
4. = UH. TgELT TTATT

Question Number : 70 Question Id : 5861805960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following schemes is a pension scheme for the
labour class people who are assoclated with the unorganized
sector?

Options:

1. = Pradhan Mantri Shram Samman Yojna

2. v Pradhan Mantri Shram Yogi Yojana
3. » Pradhan Mantri Shram Abhar Yojna
4. = Pradhan Mantri Shram Yojna

Question Number : 70 Question Id : 5861805960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fara & T Sl O AT, 3T9Tead 87 O gafag @ g &
e & Tolw verd IIsTar &7

Options:

1. = UUTTHAT AH HFHTT ATlall

2. v UITAHAT AH AR ATSTAT




3. % JTAHAT STH 3THT AoTelT

4. » YITAHAT AH AV<Tal

Question Number : 71 Question Id : 5861805961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Physiologic fuel value of 1 gm of carbohydrates is:

Options:

1. v 4 kecal
2. » 5 keal
3. = 6 kcal
4. = 7 keal

Question Number : 71 Question Id : 5861805961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 gm FEEE3e FT ARINF sS4 AT gl

Options:

1. v 4 kcal
2. = 5 kecal
3. = 6 kcal
4, = 7 keal

Question Number : 72 Question Id : 5861805962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of digestive system, which of the following
statement is NOT true?

Options:

1. = The enzyme called pepsin digests protein.
2. * The enzyme called rennin curdles milk.

3. v There are 2 types of gastric glands.

4. = Hydrochloric acid activates other enzymes.



Question Number : 72 Question Id : 5861805962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UIel a7 & il H faeT # O ki IO FUa el ol &7

Options:

1. = UTCH Fhgellel Tl USATSH, Wl hl Udel T &l
2. = Ifelel FEaTel aTel TASH, 5T & BT JaT &l

3. v 2 YRR T AT AT AT &

4. » BISSIFNR T, 3T VATSAl I ierd T &

Question Number : 73 Question Id : 5861805963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Brass is an alloy of:

Options:

1. = copper and iron.
2. v ZInc and copper.
3. # zinc and carbon.
4. = copper and carbon.

Question Number : 73 Question Id : 5861805963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dider, T fAsaTg g

Options:

1. = grar 3T aar

2. v SIEdT 3R dEr
3. = STEAT 3T Feel
4, = TeT 3T STelal

Question Number : 74 Question Id : 5861805964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solder, used for welding electrical wires together, is an alloy
of:

Options:



1. = lead and zinc.
2. v lead and tin.

3. = tin and zinc.

4. = zinc and silver.

Question Number : 74 Question Id : 5861805964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faegd NI sl TWER Ao el & folv T dlesy,
T fAsrarg B

Options:

1. » HET 3T STET
2. v AT 3R fea
3. = f&aT 3T SrEaT
4. = STEAT 3T =ET

Question Number : 75 Question Id : 5861805965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forrst & & lel, el T Tad T3 IGHAT &7

Options:

1. v gI3ca
2. « SHigar
3. = CIScd
4, = IATAT

Question Number : 75 Question Id : 5861805965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings the largest moon of Neptune?

Options:

1. v Triton
2. = {assini



3. » Titan
4. = Ganymede

Question Number : 76 Question Id : 5861805966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Recently a Japanese space probe landed on an asteroid named
Ryugu. What was the name of the spacecraft?

Options:

1. v Hayabusa 2
2. » Akatsuki

3. = SELENE

4. = IKAROS

Question Number : 76 Question Id : 5861805966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ghel & H Teh STUTeiT 3TARET Wil ATel Y] olTHS Teh &[G
T¥ 3aT| 39 MANETITeT T &ITH a7 277

Options:

1. v BHATSAT 2
2. = 3RICHRT
3. % Hellel
4, = ZHUF

Question Number : 77 Question Id : 5861805967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Central rice research institute is located in

Options:

1. v Cuttack

2. » Himachal Pradesh
3. = Kanpur

4. = Goa




Question Number : 77 Question Id : 5861805967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FERT ATder Hﬂﬁﬂld TE2Te] A g &

Options:

1. v Fch

2. » TEATIS weer
3.%$|?I'FIDT

4, = FNGr

Question Number : 78 Question Id : 5861805968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of national space agencies, which of the
followings is NOT correctly matched?

Options:

1. = Japan — JAXA

2. = Russia — Roscosmos

3. » European Union — ESA
4. v China — CNES

Question Number : 78 Question Id : 5861805968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IANET TSIl & Fedl H, faet A @ fFgerr fAems
Hel ol &7

1. = SITUTeT - SIUTHFAT (JAXA)

2. » SE-ITRITAT (Roscosmos)
3. = U H9 - AT (ESA)
4. v dreT- divased (CNES)

Question Number : 79 Question Id : 5861805969 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Energy Efficiency Services Limited (EESL) is a joint venture of
four national Public Sector Undertakings (PSUs). Which of the
following PSUs is NOT one of these four?

Options:

1. = NTPC Limited

2. = Power Finance Corporation Limited

3. v BHEL

4. = Rural Electrification Corporation Limited

Question Number : 79 Question Id : 5861805969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TsToil UTHIRITET Hiade Teiffds (EESL) IR USRI Tdeifaleh
3YHAT (TEY) KT TIFT 3TRA &1 foieet A & FiT AT 0wy
57 IR H Tl &7

1. % UdadEr forffes
2. * Jial WEad suanerd felfdds

3. v SIvIsUd
4. » AT FeFdTRIoT FTAReT fAfAs

Question Number : 80 Question Id : 5861805970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Department of Atomic Energy works under the
administrative control of:

Options:

1. = Ministry of Power.

2. = Ministry of Science and Technology.
3. v Prime Minister Office.
4. = Ministry of Defence.



Question Number : 80 Question Id : 5861805970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Sl AT, o HeMHTolsh (Uo7 H FIRI HIdT &l

Options:

1, = Taqu HATA

2. = faare v wigEehr #are

. v TITAHAT FAT

3
4. % TET AFTAT

Arithmetic Abilityl
Group Number : 5
Group Id: 586180286
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
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Minimum Instruction Time: 0
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Section Id : 586180290
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Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180401
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861805971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a—b =17 and a® + b? = 315, then the value of ab is:
Options:

1. «+ 13

? % 26

3 % 12

4 = 14

Question Number : 81 Question Id : 5861805971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

O a—b =17 3Ka? + b? =315 &, aF ab &7 ATA g

Options:

1. v 13
7 = 26
3 % 12
4 = 14

Question Number : 82 Question Id : 5861805972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two examination rooms A and B. If 12 students are sent from room A to room B, then the number of students
in each room is the same. If 24 students are sent from room B to room A, then the number of students in room A is three
times the number of students in room B. The number of students in room A is:

Options:
1. = 86



? w T4

3 % 60

4 v 84

Question Number : 82 Question Id : 5861805972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B AF & & afte Fer §1 T 12 O T FET A ¥ FE B H AT AT £, O TS FE F orEr
$r T FAF & A1ar g1 TS 24 OET Fr FET B W FET A H AT AT §, O F&T A H orEr fr gEaw
FeT B H OTHl HT HEAT § dA AT @ Sl g1 FAT A H ST = 8

Options:

1. = 86
2w 74
3. = 60
4. v 84

Question Number : 83 Question Id : 5861805973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man has some hens and cows. If the number of heads among them is 36 and the total number of feet equals 120, then
how many hens does the man have?

Options:
1. = 24

2. v 12



3 % 16

4 = 18

Question Number : 83 Question Id : 5861805973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UE IEHT F TH FO HEAT AR T §l IR T B F @ F=4m 36 § AHR W F par @ 120
g o I I F N T e FEET E?

Options:

1. = 24
2. v 12
3 = 16
4 = 18

Question Number : 84 Question Id : 5861805974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Free notebooks were distributed equally among children of a class. The number of notebooks each child got was one-
fifth of the number of children. Had the number of children been half, each child would have got 24 notebooks. How
many notebooks were distributed in all?

Options:
1. «+ 720

7 % 640

3. % 680



4 = 740

Question Number : 84 Question Id : 5861805974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FETT & Fedl & &= JFd JEae Aand # 5| Tods g=o H Fee el qrae 1 JEdr a=ar #
TEAT T qrEar fFEar o) e g=Ar fr g aml g, @ YAE g=a #7240 gEas fHedn g e
e faafa @ a1s o

Options:
1. v 720
2w 640
3. % 680
4. % 740

Question Number : 85 Question Id : 5861805975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

(0.74)* - (0.2)? Ca
(0.74)2 +(0.2)2 +0.148
Options:

1. % 0.94

7 v 0.54

3. % 0.64



A % 0.72

Question Number : 85 Question Id : 5861805975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=taf@a &+ g +:&

(0.74)3—(p.2)?

= 2
(0.74)2 +(0.2)% + 0.148 '
Options:
1. = 094
2. « 054
3 % 064
4 % 072

Question Number : 86 Question Id : 5861805976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of commodity X increases by 60 paise every vear, while the price of commodity Y increases by 35 paise
every year. If in 2002, the price of commodity X was ¥ 6.40 and that of commodity Y was T 8.90, in which year will
commodity X cost 75 paise more than commodity Y?

Options:
1. = 2013

7 % 2014

3.« 2015



4. % 2012

Question Number : 86 Question Id : 5861805976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEG X F BT # I A 60 T FHr gy g g, ek T5g Y P AAT F I q 35 97 H
FEradr g &1 AT 2002 F, aFg X 7 FAd T6.40 of i Fwg ¥ Fr FEag T8.90 of, o Gy A F
TFG X & FAd 38 Y F HA ¥ 75 T #w gele

Options:
1 = 2013
2. w 2014
3. v 2015
4. = 2012

Question Number : 87 Question Id : 5861805977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3.6x = 1.08y. find the value of Z—

y+x

Options:
1. & 0.5385

3 % 1.53

A % 0.4585



Question Number : 87 Question Id : 5861805977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 3.6x=1.08y g & L= & AT g7

¥y+x
Options:
1. + 0.5385
2 % 05485
3 % 153
4. = 0.4585

Question Number : 88 Question Id : 5861805978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A student was asked to multiply a number by g. But he divided the number by g . If the difference between the two
results is 96. then the number is:

Options:
1. = 198

7 & 189

3. % 169

A % 196

Question Number : 88 Question Id : 5861805978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wmaﬁrmmaﬁrgﬁwmﬁ#ﬁﬂwwmﬂ%aﬁwﬁwaﬁrgﬁ%ﬂﬁﬁm
feam ofy 2=t aftomAT & = 7 3ET 96 &, S gEw R



Options:

1. % 198
2. v 189
3. = 169
4. = 196

Question Number : 89 Question Id : 5861805979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

1+1+1+1+1
12 20 30 42 56

Options:
4
1. = 7

5
4, v 24

Question Number : 89 Question Id : 5861805979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1+1+1+1+1
127 20 30 42 b6

Options:
4
7

3
2. = 8
24
3. % 5
5
4, v 24

Question Number : 90 Question Id : 5861805980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The smallest fraction that should be added to the sum of 3% +5 é + ?Z to make the result a whole number is:

Options:



7
4 = 12

Question Number : 90 Question Id : 5861805980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3§+5§+?§ F T F O FiT @ oR F o wuiE S aw, e 9Rone v ot e @ e

Options:

3
1.~ 8
1
? w24
h
3. % 24
4. = 12

Question Number : 91 Question Id : 5861805981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The least multiple of 5 which leaves a remainder 7 when divided by 6, 8, 12 and 18 is:

Options:
1. = 525
7 % 595

3 % 925



A & 295

Question Number : 91 Question Id : 5861805981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 1 BIC ¥ BT 70Tk Hi T g, 5 6, 8, 12 3K 18 ¥ Fenfom & W 7 v 7=9ar &

Options:

1. % 525
2w 595
3. % 925
4. » 295

Question Number : 92 Question Id : 5861805982 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Let N be the greatest number that will divide 2345, 4585 and 7465 leaving the same remainder in each case. Then the
sum of the digits in N is:

Options:

1. v

Lh

2.% 6

Question Number : 92 Question Id : 5861805982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T Ao 5 N 98 Ta@ 957 TEaT § S 2345, 4585 3T 7465 i Fenfag s £ v & Baea &
TF FHA A9 F=ar g1 ar N # Hisg 3t & T gem:

Options:

1. v 5

Question Number : 93 Question Id : 5861805983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three numbers are in the ratio 4 : 5 : 9 and their LCM is 8280. Their HCF is:
Options:

1. v 46

? =% 44

3 = 48

A = 45

Question Number : 93 Question Id : 5861805983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A WEATT 4 05 : 9 & T H § AN 3T TgcaH FAIATF 8280 F| 3AF HecdH HHATEAS

grem:

Options:




2 w44
3. = 48
4 = 45

Question Number : 94 Question Id : 5861805984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the ages of Sachin to Raghu is 1 : 4. After 10 years, the ratio will change to 2 : 5. Find the present age of
Raghu.

Options:
1. « 40years

7 % 42 years

3w 44 years

4 = 38 years

Question Number : 94 Question Id : 5861805984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RS ¥ TG dF H A FT IS 12 4 §1 10 I F o€ Tg WA 2 1 5 g A G H FAAA
g AT FfET
Options:

1. v 40 @re



2w 42 g

3.« 44 A

4. = 38 TATA

Question Number : 95 Question Id : 5861805985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of monthly incomes of two persons is 12 : 11 and the ratio of their expenditures is 4 : 3. If each of them saves
< 8.000 per month, the sum of their monthly incomes is:

Options:
1. % T 34,500

9w 46,000

3 » 23.000

4. = T25.000

Question Number : 95 Question Id : 5861805985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& SfFadl $F AfEsE W F AT 12 1 11 § 3R 3% =97 & 39 4 : 3 81 IR F S W AR
% 8,000 #F 9 F &, af el Fof Atae T haar g
Options:

1 34,500

2w 46,000



3 » 23,000

4.« Z25,000

Question Number : 96 Question Id : 5861805986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bank manager multiplied a number by 6 instead of 8. Later on this error was rectified. Find the percentage error.
Options:

1. = 20%

A = 24%

Question Number : 96 Question Id : 5861805986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U S HeR o fordr wEar # 8 Fr w9 6 ¥ Aon < femm a1 7 W I Fr guwr fomw

st 3 e &
Options:

1. % 20%

2 % 33%

3. ¢v 25%



4. % 24%

Question Number : 97 Question Id : 5861805987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination, a boy scored 30% of marks and failed by 6 marks. Another boy got 40% marks and got 14 more than
the pass mark. Find the total marks of the examination.

Options:
1. & 250

7 % 300

3. % 400

A. » 200

Question Number : 97 Question Id : 5861805987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T H, TF o5 o 30% e Fea v v a7 6 3R & AT g T TR g 7 o 40%
3% g fFT AR 3E% 3%, A0 @ F AT sEeTe I & 14 350 3 F@a FwF e pa
foraer 3fepT 1 off|

Options:

1. = 250
2 % 300
3.« 400

4. v 200



Question Number : 98 Question Id : 5861805988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of 10% of Mithran’s age and 6% of Srivatsan’s age is ; of the difference between 30% of Mithran’s age and
20% of Srivatsan’s age. Find the ratio of Mithran’s age to Srivatsan’s age.

Options:
1.« 4:

Lh

Lh
e

2. %

Question Number : 98 Question Id : 5861805988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # 317 F 10% 3T g $ g F 6% F AT, TeRa & 37 F 30% A sfaews Fr 31g
#zo%ﬁm#mmg%lﬁwﬁmmm#ﬂmwmaﬁﬁm

Options:

1. v 4:5
? = b:4
3. % 3:5
4. = 5:3

Question Number : 99 Question Id : 5861805989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The average salary of men and woman in a company is < 71,000 and T 73,000, respectively. The average salary of all
the employees in the company is ¥ 71.800. Find the ratio of men’s salary to that of women's salary.

Options:
1. & 2:3

? o 3:2

3. % 3:4

A = 4:3

Question Number : 99 Question Id : 5861805989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordt St 7 et 3 Afgematt &1 sfea 39 FHer T71,000 3R T 73,000 §1 FAr & wel
FHAET 1 AT 3d= T 71,800 §1 J2UT AT ARFeNHT & 3T F HIa A HAT

Options:

1. = 2:3
? ¢ 3:2
3 =% 3:4
4 = 4:3

Question Number : 100 Question Id : 5861805990 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A doppler radar system recorded the speed of 10 cars entering a company’s main gate as 87, 99, 80, 73, 64, 86, 98, 60,
88 and 92 (in km/h). Later on, an error in the system was detected. Find the new average speed of cars if the doppler
radar system recorded 10 m/sec less in each case.

Options:



1. v 46.7 km/h

7 % 40.5km/h

3 % 42.5kmh

4 = 42km/h

Question Number : 100 Question Id : 5861805990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF STCoR TR FUTET o T HIAT & AT g@R W 10 FRT Fr fe 87, 99, 80, 73, 64, 86, 98, 60, 88
3T 92 (km/h #) =7 #11 aE H, $H FOTET FH TH I F G4 T T SN TR JUMET o TAF
AHS H fd 10 m/sec &F &T g, af FRT Fr 7 it\g 7fa A9 F{I

Options:

1. v 46.7 km/h

2 % 405 km/h

3. % 425 km/h

4. % 42 km/h
Arithmetic Ability2
Group Number : 6
Group Id: 586180287
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 586180291
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 586180402
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861805991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ashutosh sold a radio for ¥ 960 and incurred a loss of 20%. At what price should he have sold the radio to make a profit
of 25%?

Options:
1. % T 1,400

2 % T1.200

3w« 1,300

4. « T 1500

Question Number : 101 Question Id : 5861805991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRE & T IR T 960 H I AR IH W F 5/ 20% H A g5 25% H A FAA F 0w
38 2o #r fFw Frorg W 994 ige ar?

Options:



1 = %1400

2« 1,200
3« 1,300
4 » %1500

Question Number : 102 Question Id : 5861805992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The profit percentage earned by selling an article for ¥ 9.600 is equal to the percentage loss incurred by selling the same
article for T 6,400. Find the cost price of the article.

Options:
1.« 8,000

2w T 8.500

3 % 9.000

4. % T7.500

Question Number : 102 Question Id : 5861805992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordir 3Fg #r 79,600 F F=r TN o wmeT gfavera 3 T F T 6,400 F F=A W E AT FNiA
iR & SR giaT g1 98] & a6 H{ed A S|

Options:

1 8,000




2 x 8500

3« Z9,000

4 x 7,500

Question Number : 103 Question 1d : 5861805993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shyam purchased oranges for € 1200. He sold ;l of them at a loss of 10% and the remaining at a profit of 20%. Find the
overall profit or loss percentage.

Options:
1. = Profit 15%

? % Loss 15%

3« Profit 10%

4 = Loss 10%

Question Number : 103 Question Id : 5861805993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WA o 1200 F T T 38 gorohr — fewr 10% & afer ) 3k I Bew 20% & amer a9
feam) Fer amer @ gl wicera @ o FfET

Options:

1. = 15% =M

2« 15% @



3. v 10% =T

4« 10% g

Question Number : 104 Question Id : 5861805994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The list price of an article is € 2000. It is sold at two successive discounts of 12% and x%. If the selling price of the
article is the product of 8 and 209, find x%o.

Options:
1 v 3%

7 % 6%

3. % 8%

A % 9%

Question Number : 104 Question 1d : 5861805994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordr axg 1 e Hw T 2000 B1 38 12% 3N <% #F & FAF gf W =0 Jar g1 o avg =
fasra 750 8 3R 209 % TUEEHH *F WK ¢, aF 1% F AF AT DT

Options:

1. v 5%

7 u 6%

2w 8%



4 = 9%

Question Number : 105 Question Id : 5861805995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhoomika purchased a TV set for T 34.200 and fixed its marked price in such a way that by allowing a discount of 10%
and 5%, she earns a profit of 25%. Find the marked price.

Options:
1. % ¥ 40,000

2 % < 30,000

3 » 50,000

4. » T 45.000

Question Number : 105 Question Id : 5861805995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfEe & v S FT 34,200 F @lier AR sEe T 7w 5w Ruw @ 9w B & 10% R 5%
#r a1 BE & F =g o 37 25% F A fFen| sfea Arw A HifEw

Options:
1. » 40,000
2 % ¥30,000

3. » 50,000

4 x T 45,000



Question Number : 106 Question Id : 5861805996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gurmeet wants to buy a car worth ¥ 5.00,000. When he approached his bank for a loan, the manager was ready to
provide 90% of the car’s cost as the loan. The amount was sanctioned at 10% simple interest for three years. How much
money did he return to the bank after three years?

Options:
1. « T 5.85.000

9 % T 5,80,000

3 x T 4.85,000

4. = T 4.80,000

Question Number : 106 Question Id : 5861805996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR X 5,00,000 Fr HAT H TH FR TIGAT el g1 T 30A HIA 9% T K0T F e T o,
ar 9§UE FR F AETT F 90% FHOT & F BT AR un 77 7 &7 T F e 10% JuReT s
W AR # M| AT T TG 3 dF F FA foban T FAlerar?

Options:

1. » %5,85,000

2« %5,80,000

3 » T4,85000

4. % ¥4,80,000

Question Number : 107 Question Id : 5861805997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Babu invested a certain amount of money on simple interest at 3% p.a. for five years. Arun invested 80% of what Babu
invested at 10% p.a. for six years. He received an interest that was ¥ 12 more than three times of what Babu got as
interest. What was the amount invested by Babu?

Options:
1. & 500

7« T 400

3. % T 600

A = T 800

Question Number : 107 Question 1d : 5861805997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y & I WA F AT 3% Fioaw Fr T W WUR0T S0 W U AT afEr @ FEer G o 2
a1g garT =R uf¥r #1 80% o W % forw 10% gfaay & ax & e o 30 a0 & &9 &7 A
TRy e, a7 a9 s F w9 F B 1 F A7 g ¥ 212 30w O A @ g Badd o

foraer forar ar?
Options:

1. = T500
2. v 400
3« T600
A = 800

Question Number : 108 Question Id : 5861805998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The simple interest on a certain sum for five years at 10% p.a. is T 96 less than the simple interest on the same sum for
seven years at 8% p.a. Find the sum.

Options:
1. % 1,500

7 % 1,800

3 % T1.400

4. » T 1600

Question Number : 108 Question Id : 5861805998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10% 9faey $r == a7 ¥ v @fFag ofYr ov o= o & oaRor s =@ ofer W 8% wiaay fir
S &Y R TS T % WUROT &0 ¥ T 96 FF giar g1 FqaT I & 1o Hifsw

Options:

1 % 1500
2 % 1,800
3 % 1,400
4 o T1,600

Question Number : 109 Question Id : 5861805999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An IT company was started with 1,60.000 employees. The number of employees increased every three months at the
rate of 20% p.a. After how long did the total number of employees become 1.94.4817

Options:



1. v 1 year

7 x 2years

3w 1la2years

4 = 2 V52 years

Question Number : 109 Question Id : 5861805999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH HTEET FOAT 1,60,000 FHEMNET F @MY qw T S o) FA=EAr F FEw @7 S 7 F 20%
Sfoas @ a7 ¥ e TR FE o FARET Fr For TEAT 1,94,481 FF TF g SATEA?

Options:

1. ¢ 1 9H

2. 0w 2Wd

3.0« 1% -

4. = 2 % @

Question Number : 110 Question Id : 5861806000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4000 IT professionals are assigned to complete a project. At the end of the first year, 20% are retrenched and at the end
of the second year 10% are retrenched. However, to complete the project in time, the number of professionals was
increased by 10% at the end of the third year. Find the number of project officials working during the fourth year.

Options:
1. = 3268



7« 3168

3 % 3368

A % 3618

Question Number : 110 Question Id : 5861806000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IR F 0 FA & T 4000 JRT F Agwa R T vEe a9 & 3 7 20% AR gw
I F T H 10% AT F TR F foFrer mam| grentE, INASAr # FAT | O B F A,
Ay 3Y F AT F Rt & e # 10% #r gy fr 7121 v F: & G 9 F chw sw @
# fFas W FHE F1H #T E© £

Options:
1. = 3268
2. « 3168
3. w 3368
4. = 3618

Question Number : 111 Question Id : 5861806001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A conical tent is made to accommodate 25 soldiers. Each person must occupy 10 m? of space and have 25 m? of air to
breathe. Find the height of the tent.

Options:
1. %= 6.5m



[~
®
EJ'l
Lh
=]

Question Number : 111 Question Id : 5861806001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25 &t @ TAATST F F T U FEeR R S99 T g1 Sl edfed 10 m F T
R @ o & v 25 m® gar # =T g €| T 1 39 A A

Options:

1. = 65 m
2 % 55m
3. % 7m

4. v 75 m

Question Number : 112 Question Id : 5861806002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A standard rain gauge measured rainfall in a village as 25 cm. How many litres of water fell on an agricultural field of
length 80 m and breadth 60 m.

Options:
1. v 1.20.00.00 litres

2 % 1.30,00,00 litres



3 x 1.20,000 litres

4. % 1.25,00,00 litres

Question Number : 112 Question Id : 5861806002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WWW%WWWﬁEScmEﬁﬁﬁ?@IWﬁ%&ﬂmﬁﬁ?ﬁﬂmﬁ?
ey B9 & T fBas sfex 9= B

Options:

1~ 1,20,00,00 X

2« 1,30,00,00 FeX

3 % 120,000 &

4 % 1,2500,00 #ex

Question Number : 113 Question Id : 5861806003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of length, breadth and height of a cuboid is 26 m and length of its diagonal is 18 m. Find the surface area of the
cuboid.

Options:

1 = 325m°

7« 352m°

3. % 452m°



A % 362m°

Question Number : 113 Question Id : 5861806003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF O T FaTs, dise HR FEe o T 26 m § 3T ST et fr S92 18 m 1 =T (cuboid)
N IS S9%d AT AT

Options:

1. % 325 m?
2 & 352 m?
3 % 452 m?
4. % 362 m?

Question Number : 114 Question Id : 5861806004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arun and Bhola begin to work on a task. Arun is four times as good a workman as Bhola and therefore is able to finish
the task in 60 days less than Bhola. In how many days will they finish working on the task together?

Options:
1. = 18days

2 w15 days

3  l6days

4], » 14days



Question Number : 114 Question Id : 5861806004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30T 3R SIS TH FH F UH WY HA YT A g| 30T AN F AN A 30T SR § AR
sEIT ST & 60 R TS F1H T A H TEH g1 3N J AT U Ty Fea F1H FA 8, O I
sg wH # fFaw feat & @em &r amwer?

Options:

1.« 18

2. % 15 &=

3. v 16 fea

4, « 14 R

Question Number : 115 Question Id : 5861806005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 people can complete z of a work in four days. Find the number of people required to complete 2 of the work in 24
days.

Options:
1. = 4

Question Number : 115 Question Id : 5861806005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



18 it ey forell 17 & 2 a7 @t R et & qU R wwd | A &
e F T AEems FHIRT F gEw A e

> T F 24 R A q@
Options:
1. = 4
2. v 5

Question Number : 116 Question Id : 5861806006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Options:

The speed of a train is 2% times the average speed of a car. The car covers 240 km in five hours. How much distance
will the train cover in five hours?

1. % 650km

Question Number : 116 Question Id : 5861806006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF & F A T FR Frow af #r 22 ¥ FR I G F 240 km#Fr gl TF A B &F 99 B
# fraelr g a7 HEm?
Options:



1.« 650 km

2 & 570 km
3. % 460 km
4. % 580 km

Question Number : 117 Question Id : 5861806007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car travels from Kalyan to Dadar at a speed of 60 km/h and returns back to Kalyan at 80 km/h. If the total time taken
by the car is 2 hours and 55 minutes, find the distance between Kalyan and Dadar.

Options:
1. + 100 km

7 % 120km

3 % 110km

A % 90km

Question Number : 117 Question Id : 5861806007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF FH FII0T T e gF 60 km/h & a1fg & Im=9r #:a1 £ 3T 80 km/h &Fr =ify & Fegror I9g
dtedr 81 afe w1 ganr a7 g ga g 2 ¢ 3k 55 e B, A wearr ik e & & g
AT F

Options:

1.« 100 km




2 % 120 km

3. % 110 km

4. % 90 km

Question Number : 118 Question 1d : 5861806008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio between the speed of a car to that of a bus is 7 : 4. The train covered 616 km in eight hours. The speed of the

train is ﬁ the speed of the car. How much distance will the bus cover in three hours?
Options:
1. = 186 km

7 % 178 km

3.« 168 km

A % 158km

Question Number : 118 Question Id : 5861806008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U §H H AT AT FR T AT F F FAFIT 7 4 ) T A 8 U H 616 km FT gl a9 F A
#r aifer FR Hr afey Fr 2 ) oa@ A gt F Frae gff a7 weh?

Options:

1. « 186 km



2 % 178 km

3. v 168 km

4. % 158 km

Question Number : 119 Question Id : 5861806009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table gives the percentage of marks obtained by seven students in six different subjects in an

examination. The numbers in the brackets are the maximum marks in each subject.

Subject (Max. Marks)
Computer
Student | English | Maths | Physics | Chemistry | Biology
Science

(120) (130) (120) (100) (80) (50)
David 80 40 85 60 75 80
Arun 85 loo 65 50 90 60
Rohit g0 80 70 72 80 60
Salma 80 50 55 80 70 70
Janani 85 60 75 95 60 280
Tarun 70 75 65 85 40 60

What was the aggregate of marks obtained by Janani in all the six subjects?
Options:
1. » 453

7 % 435



3. % 425

4 = 434

Question Number : 119 Question Id : 5861806009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A=l afoe & v ol & o soer-eer Rt & g9 oEl @R gea Het & taera
T F| FSSF H A M TEA TAF AT F uvg 30waH 375 2

Ty (3TFas FF)
GG CE I G CE G G
(120)  |[(130)  [(120) |(100) |(80) (50)

CiCES 80 40 85 60 Fis 90
3HTUT 85 100 65 50 90 60
I 90 80 70 72 80 60
HoTAT 80 50 5b 80 70 70
FAAT &5 60 i 95 60 80
a%uT 70 75 65 &5 40 60

St wel o fAwat 7 9rog o HF Hr 0T H?

Options:

1. v 453
2w 435
3. = 425
4. = 434

Question Number : 120 Question Id : 5861806010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table gives the percentage of marks obtained by seven students in six different subjects in an
examination. The numbers in the brackets are the maximum marks in each subject.

Subject (Max. Marks)
Computer
Student | English | Maths | Physics | Chemistry | Biology
Science

(120) (130) (120) (100) (80) (50)
David 80 40 85 60 75 S0
Arun 85 100 65 50 90 60
Rohit g0 80 70 72 80 60
Salma 80 50 55 20 70 70
Janani 85 60 75 95 60 80
Tarun 70 75 65 85 40 60

What is Rohit’s overall percentage?
Options:
1. & 75%

? v T71%

3 % 70%

A = 78%

Question Number : 120 Question Id : 5861806010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=@ oo & v ofer & o sreer-areer Buat & @9 orEr ganRT grog 3 #+ T gias R

AT §| PSSk H & I TEIT ToASF ONT H Ieq HEFAH 37F F

T (FEas 3F)
o W | Ao gifs |wmaa  |S= F
fTae  |feaw |fTew  |fee
(120) (130) (120) (100) (80) (50)

ECE 80 40 85 60 75 90
31%T 85 100 65 50 90 60
e 90 80 70 72 80 60
HoTHAT 80 50 55 &0 70 70
FAAT 85 60 s 95 60 80
a%ur 70 15 65 85 40 60
Ufea &1 e For wfaea $r aoen w12

Options:

1. = 75%

2. v 77%

3. = 70%

4. = 78%

General Englishi

Group Number : 7

Group Id: 586180288

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 586180292
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Section type: Online
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Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180403
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5861806011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that conveys the meaning of the underlined
idiom.

We all wanted to keep the party a secret, but my brother
spilled the beans.

Options:

1. = spoll the party

2. % scatter the beans on the floor
3. v reveal information
4. = not being a part of something

Question Number : 121 Question Id : 5861806011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that conveys the meaning of the

underlined idiom.

We all wanted to keep the party a secret, but my brother

spilled the beans.

Options:

1. = spoil the party
2. = scatter the beans on the floor
3. ¢ reveal information

4. = not being a part of something

Question Number : 122 Question Id : 5861806012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that conveys the meaning of the underlined
1diom.

I don’t know how I will convince my mother, I guess, I will
play it by the ear.

Options:

1. = to listen very carefully

2. v letting things happen naturally.
3. = to want things to happen fast
4. = 10 persuade some one

Question Number : 122 Question Id : 5861806012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that conveys the meaning of the

underlined idiom.

| don’t know how | will convince my mother, | guess, | will

play it by the ear.

Options:

1. = to listen very carefully

2. v letting things happen naturally.
3. ® to want things to happen fast
4,

* to persuade some one

Question Number : 123 Question Id : 5861806013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

I went down from 80Kkgs to 60 kgs in weight. That is a large
accomplishment.

Options:

1. = suitable accomplishment

2. v big accomplishment
3. = heavy accomplishment
4. = no improvement

Question Number : 123 Question Id : 5861806013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

| went down from 80kgs to 60 kgs in weight. That Is a

large accomplishment.

Options:

1. = suitable accomplishment
2. v big accomplishment
3. = heavy accomplishment

4, = no Improvement

Question Number : 124 Question 1d : 5861806014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

No opinion poll can predict the overview of this election.

Options:

1. = inclination

2. « outcome
3. = estimation
4. = no improvement

Question Number : 124 Question Id : 5861806014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

No opinion poll can predict the overview of this election.

Options:

1. = Inclination
2. v outcome
3. % estimation

4. = no Improvement

Question Number : 125 Question Id : 5861806015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is one word substitution for the given
phrase.

inscription on a tombstone

Options:

1. = epigram
2. % epic

3. v epitaph
4, = epistle

Question Number : 125 Question Id : 5861806015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that i1s one word substitution for the

given phrase.

Inscription on a tombstone

Options:

1. *= epigram
2. % epic

3. v epitaph
4. = epistle

Question Number : 126 Question Id : 5861806016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Now minister made decision that would prove to
be most important decision of his life.
Options:

1. = a, the, an
2. % &, an, the
3. = the, a, a

4. v the, a, the

Question Number : 126 Question Id : 5861806016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Now minister made decision that would

prove to be most important decision of his life.

Options:



1. = a, the, an
2. ® a, an, the
3. = the, a, a

4. v the, a, the

Question Number : 127 Question Id : 5861806017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

My friend went to university in America and got

MBA degree.

Options:

1. = an, a
2. v a,an
3. = the, a
4, = the, an

Question Number : 127 Question Id : 5861806017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

My friend went to university in America and got
MBA degree.

Options:

1. = an, a
2. v a, an
3. = the, a

4. = the, an



Question Number : 128 Question 1d : 5861806018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

“You are busy,” I said, “Perhaps disturbing

can come later.”

Options:

1. = I am, him, he

2. = you are, him, he
3.vIam,you,l

4. = you are, you, I

Question Number : 128 Question 1d : 5861806018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

“You are busy,” | said, “Perhaps disturbing

can come later.”

Options:

1. = | am, him, he
2. = you are, him, he
3. v | am, you, |

4, = you are, you, |

Question Number : 129 Question Id : 5861806019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

I went to the wrong class mistake. A teacher then took
me the right classroom the first floor.



Options:

1. = in, for, on
2. * by, in, on
3. = o1, In, on
4. v by, to, on

Question Number : 129 Question Id : 5861806019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

| went to the wrong class mistake. A teacher then
took me the right classroom the first floor.
Options:

1. = In, for, on
2. % by, In, on
3. % on, In, on
4. v by, to, on

Question Number : 130 Question Id : 5861806020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

was suddenly ashamed of for the abrupt way
had been speaking to :

Options:

1. = I, me, I, his

2. v I, myself, I, him

3. * he, myself, I, me

4. = they, himself, I, him



Question Number : 130 Question Id : 5861806020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

was suddenly ashamed of for the abrupt

way had been speaking to

Options:

1. = |, me, |, his

2. ¢ |, myself, |, him

3. = he, myself, |, me
4. = they, himself, |, him

Question Number : 131 Question Id : 5861806021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

My uncle has taken phone. Can please let me
make a call from

Options:

1. = ours, I, his

2. * mine, you, your
3. v my, you, yours
4. = my, I, you

Question Number : 131 Question Id : 5861806021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

My uncle has taken phone. Can please let

me make a call from

Options:

1. = ours, |, his
Z. ® mine, you, your
3. ¥ my, you, yours
4. = my, |, you

Question Number : 132 Question Id : 5861806022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

I have only salad for dinner I can have the dessert.

Options:

1. ¢« If, then

2. » whether, then

3. * Though, then

4. = although, however

Question Number : 132 Question Id : 5861806022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

| have only salad for dinner | can have the

dessert.

Options:

1. ¢ If, then



2. # whether, then
3. = Though, then

4, = although, however

Question Number : 133 Question Id : 5861806023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

A violation of law small, is a punishable offense.

Options:

1. » and

2. » nevertheless
3. v however

4. % S0

Question Number : 133 Question Id : 5861806023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

A violation of law small, 1s a punishable offense.
Options:
1. = and

2. ® nevertheless
3. v however
4. % s0

Question Number : 134 Question Id : 5861806024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

spectators continued to watch the game despite the rain.

Options:

1. = The few
2. v Several
3. = Any

4. = Every

Question Number : 134 Question Id : 5861806024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

spectators continued to watch the game despite the

rain.

Options:

1. = The few
2. v Several
3. = Any

4. = Every

Question Number : 135 Question Id : 5861806025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

my mother my father can play tennis.

Options:

1. = either, or
2. ® none, or



3. = both, but
4. v neither, nor

Question Number : 135 Question Id : 5861806025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

my mother my father can play tennis.

Options:

1. = either, or
2. % none, or

3. = both, but

4. v neither, nor

Question Number : 136 Question Id : 5861806026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct passive form of the
given sentence.

Why did no one question her for her bad conduct?

Options:

1. * Why is she not questioned by anyone for her bad conduct?

2. v Why was she not questioned by anyone for her bad
conduct?

3. » Why is she not being questioned by anyone for her bad
conduct?

4. = Why has she not been questioned by anyone for her bad
conduct?

Question Number : 136 Question Id : 5861806026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the correct passive form of the

given sentence.

Why did no one question her for her bad conduct?

Options:

1. * Why i1s she not questioned by anyone for her bad

conduct?

2. v Why was she not questioned by anyone for her bad

conduct?

3. = Why I1s she not being questioned by anyone for her
bad conduct?

4. = Why has she not been questioned by anyone for her

bad conduct?

Question Number : 137 Question Id : 5861806027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the
given sentence.

Gayatri said to her father, “Please let me go out with my
friends.”

Options:

1. v Gayatrl requested her father to let her go out with her
friends.

2. » Gayatri requested her father to let him go out with her
friends.



3. » Gayatri requested her father to let him go out with his
friends.

4. = Gayatri questioned her father to let her go out with her
friends.

Question Number : 137 Question Id : 5861806027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the

given sentence.

Gayatr said to her father, “Please let me go out with my

friends.”

Options:

1. v Gayatr requested her father to let her go out with her

friends.

2. = (3ayatrn requested her father to let him go out with her

friends.

3. » (3ayatrl requested her father to let him go out with his

friends.

4, = (Gayatri questioned her father to let her go out with her

friends.

Question Number : 138 Question 1d : 5861806028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence.

anytime/ family/ the bridegroom’s/is expected

Options:



1. = The family is expected anytime the bridegroom’s.
2. v The bridegroom’s family is expected anytime.
3. = The bridegroom’s family is anytime expected.
4. = Is expected the bridegroom’s family anytime.

Question Number : 138 Question Id : 5861806028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence.

anytime/ family/ the bridegroom’s/is expected

Options:

1. = The family 1s expected anytime the bridegroom’s.
2. v The bridegroom’s family is expected anytime.
3. = The bridegroom’s family i1s anytime expected.

4. = |s expected the bridegroom’s family anytime.

Question Number : 139 Question 1d : 5861806029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence.

be careful/ the footprints/fwe must/not to disturb

Options:

1. = Careful not to disturb the footprints we must be.
2. » We must be careful the footprints not to disturb
3. = The footprints we must not to disturb be careful.
4. v We must be careful not to disturb the footprints.

Question Number : 139 Question 1d : 5861806029 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct order of this jumbled

sentence.

be careful/ the footprintsfiwe must/not to disturb

Options:

1. = Careful not to disturb the footprints we must be.
2. » We must be careful the footprints not to disturb
3. * The footprints we must not to disturb be careful.

4, v We must be careful not to disturb the footprints.

Question Number : 140 Question Id : 5861806030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jumbled
sentence.

have dinner/you may/go to/the cinema/or

Options:

1. = Go to the cinema or have dinner you may.
2. v You may go to the cinema or have dinner.
3. = May you go to the cinema or have dinner.
4. » Have you may dinner or go to the cinema.

Question Number : 140 Question Id : 5861806030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct order of this jumbled

sentence.

have dinner/fyou may/go tofthe cinemalor



Options:

1. = 3o to the cinema or have dinner you may.
2. v You may go to the cinema or have dinner.
3. = May you go to the cinema or have dinner.

4, » Have you may dinner or go to the cinema.
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Question Number : 141 Question Id : 5861806031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct synonym for the given
word.

AUGMENT

Options:

1. * undermine
2. v enhance

3. » weaken

4, = reduce

Question Number : 141 Question Id : 5861806031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

AUGMENT

Options:

1. = undermine
2. v enhance
3. % weaken

4. = reduce

Question Number : 142 Question Id : 5861806032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

MEAGRE

Options:



1. v Insufficient
2. = ample
3. ® surplus
4. %= generous

Question Number : 142 Question Id : 5861806032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

MEAGRE

Options:

1. v insufficient
2. = ample

3. » surplus

4. = generous

Question Number : 143 Question Id : 5861806033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

IRIDESCENT

Options:

1. = pale
2. = colorless

3. = dull
4. v lustrous

Question Number : 143 Question Id : 5861806033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct synonym for the given

word.

IRIDESCENT

Options:

1. = pale
2. % colorless

3. = dull

4. ¢ |ustrous

Question Number : 144 Question Id : 5861806034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

MAGNANIMOUS

Options:

1. = selfish

2. v large hearted
3. = broken hearted
4. = uncharitable

Question Number : 144 Question Id : 5861806034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

MAGNANIMOUS

Options:



1. = selfish

2. v large hearted
3. #= broken hearted
4,

% uncharitable

Question Number : 145 Question Id : 5861806035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

RUSTIC

Options:

1. v artless

2. = cultured

3. = urhan

4. = sophisticated

Question Number : 145 Question Id : 5861806035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

RUSTIC

Options:

1. v artless
2. % cultured
3. = urban
4

. » sophisticated



Question Number : 146 Question Id : 5861806036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

INFALLIBLE

Options:

1. = correct

2. % unerring

3. v unreliable
4. = foolproof

Question Number : 146 Question Id : 5861806036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct antonym for the given

word.

INFALLIBLE

Options:

1. = correct
2. % unerring
3. v unreliable

4, = foolproof

Question Number : 147 Question Id : 5861806037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

PRISTINE



Options:

1. = earliest
2. = spotless
3. v dirty
4. = pure

Question Number : 147 Question Id : 5861806037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct antonym for the given

word.

PRISTINE

Options:

1. = earliest
2. % spotless
3. v dirty
4, = pure

Question Number : 148 Question Id : 5861806038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

SEDENTARY

Options:

1. v moving
2. % lnactive
3. = seated
4. = practical



Question Number : 148 Question Id : 5861806038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word.

SEDENTARY

Options:

1. v moving
2. % |nhactive
3. % seated

4. = practical

Question Number : 149 Question Id : 5861806039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

SUAVE

Options:

1. = smooth
2. » clvilized
3. = soft

4. v awkward

Question Number : 149 Question Id : 5861806039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct antonym for the given

word.

SUAVE

Options:

1. = smooth
2. = civilized
3. = soft

4. v awkward

Question Number : 150 Question Id : 5861806040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

MEANDER

Options:

1. v straight
2. % Z1gzag

3. = curly

4. = rambling

Question Number : 150 Question Id : 5861806040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word.

MEANDER

Options:



1. v straight

2. ® zigzag

3. = curly

4. = rambling
Sub-Section Number: 2
Sub-Section 1d: 586180405
Question Shuffling Allowed : Yes

Question Id : 5861806041 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage to answer the questions that follow.

It is often said that a sports star will die twice, the first time at
retirement. For elite athletes who have dedicated their lives
to sport, what happens when your time comes to an end? If
you aren’t an athlete, then who are you?

Elite athletes train extensively for years, in many cases,
consuming the majority of their young lives, often making
extensive personal sacrifices in order to pursue their dreams
of glory. These may include making huge financial sacrifices,
maoving away from family to train full-time in academies,
calling time on their academic studies and sacrificing
personal or romarntic relationships. For many athletes,
retirement is a concept that they do not wish to think about
in great detail. However, whether they have achieved
Olympic glory or failed to reach the pinnacle in their sport
that they had aspired to, all athletes’ careers will eventually
come to a close, whether this is through age, injury or
exhaustion.

However, what happens to these athletes once they leave the
days filled with rigorous training, the extensive time spent
travelling and the buzz and adrenaline of competing? This is
the time in their lives where they may be susceptible to
depression. Olympic Champion cyclist, Victoria Pendleton,
expressed her extreme relief of retirement after the London
Games, citing that she couldn’t wait to go on to new ventures
in her life and was much happier now that the pressure of
competing was no longer a burden. However, not all athletes
will enter retirement with such ease and willingness; many
will struggle with adapting to a “regular life” where they are
no longer in the limelight and perhaps, in their eyes, become
forgotten members of society.

Sport career termination induces dramatic changes in
athletes’ personal, social and occupational lives, this can in
turn potentially affect individuals cognitively, emotionally
and behaviorally. The social and professional changes
induced by retirement from sport can in effect cause
distressful reactions These retired athletes express a feeling of
emptiness in their lives and one of the main stakes of this
transition is to therefore reconstruct and adjust themselves
on the hasis of a new lifestyle.

Athletes by nature are mentally tough individuals and are
often perceived by the public to be fitter, healthier and
happier than others. It is this attitude and stereotyping that
can make it more difficult for them to approach someone for
help. Therefore it is highly important for close family, friends,
team mates and coaches to understand that depression
cannot always be seen and the athlete may indeed never
admit to how they feel for fear of shame and embarrassment.
The most important message is to understand that despite
their incredible success in their hard-fought and dedicated
careers, the process of retirement is a difficult one and it is in
this time that social support and communication is of vital
importance if the athlete is to avoid the dreaded post-
retirement blues.



Sub questions

Question Number : 151 Question Id : 5861806042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a reason for the end of an
athlete’s sporting life?

Options:

1. = aging

2. = getting injured

3. v family commitments
4. » exhaustion

Question Number : 152 Question Id : 5861806043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The possibility of depression in an athlete occurs when he/she:

Options:

1. = does not get medals

2. » does not perform well

3. » there is no competition
4. v retires from active sports

Question Number : 153 Question Id : 5861806044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In what context does the writer mention Victoria Pendleton?

Options:

1. = An Olympic champion

2. = Being a champion cyclist

3. v an athlete who looked forward to retirement.
4. = an athlete who could not handle retirement

Question Number : 154 Question Id : 5861806045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why do athletes find it difficult to ask for help?

Options:



1. v They are perceived as being tough people.
2. = They are arrogant about their abilities.

3. = They have won a lot of medals.

4. = The public knows them well.

Question Number : 155 Question Id : 5861806046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the writer, which of these is important for an
athlete who has retired?

Options:

1. = continued fame and recognition
2. v family and community support
3. » all the past achievements

4. = financial support from the govt.

Question Id : 5861806041 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage to answer the questions that follow.

It is often said that a sports star will die twice, the first
time at retirement. For elite athletes who have dedicated
their lives to sport, what happens when your time comes to

an end? If you aren’t an athlete, then who are you?

Elite athletes train extensively for years, in many cases,
consuming the majority of their young lives, often making
extensive personal sacrifices in order to pursue their dreams
of glory. These may include making huge financial
sacrifices, moving away from family to train full-time in
academies, calling time on their academic studies and
sacrificing personal or romantic relationships. For many
athletes, retirement is a concept that they do not wish to
think about in great detail. However, whether they have
achieved Olympic glory or failed to reach the pinnacle in
their sport that they had aspired to, all athletes’ careers will
eventually come to a close, whether this is through age,

injury or exhaustion.

However, what happens to these athletes once they leave
the days filled with rigorous training, the extensive time
spent travelling and the buzz and adrenaline of competing?
This is the time in their lives where they may be
susceptible to depression. Olympic Champion cyclist, Victoria
Pendleton, expressed her extreme relief of retirement after
the London Games, citing that she couldn’t wait to go on to
new ventures in her life and was much happier now that
the pressure of competing was no longer a burden.
However, not all athletes will enter retirement with such
ease and willingness; many will struggle with adapting to a
“regular life” where they are no longer in the limelight and

perhaps, in their eyes, become forgotten members of society.

Sport career termination induces dramatic changes in
athletes’ personal, social and occupational lives, this can in
turn potentially affect individuals cognitively, emotionally and
behaviorally. The social and professional changes induced
by retirement from sport can in effect cause distressful
reactions These retired athletes express a feeling of
emptiness in their lives and one of the main stakes of this
transition is to therefore reconstruct and adjust themselves

on the basis of a new lifestyle.

Athletes by nature are mentally tough individuals and are
often perceived by the public to be fitter, healthier and
happier than others. It is this attitude and stereotyping that
can make it more difficult for them to approach somecne
for help. Therefore it is highly important for close family,
friends, team mates and coaches to understand that
depression cannot always be seen and the athlete may
indeed never admit to how they feel for fear of shame and
embarrassment. The most important message is to
understand that despite their incredible success in their hard-
fought and dedicated careers, the process of retirement is a
difficult one and it is in this time that social support and
communication is of vital importance if the athlete is to
avoid the dreaded post-retirement blues.



Sub questions

Question Number : 151 Question Id : 5861806042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s NOT a reason for the end of an
athlete’s sporting life?

Options:

1. = aging
2. % getting Injured
3. v family commitments

4. = exhaustion

Question Number : 152 Question Id : 5861806043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The possibility of depression in an athlete occurs when
helshe:

Options:

1. = does not get medals
2. » does not perform well
3. = there Is no competition

4, v retires from active sports

Question Number : 153 Question 1d : 5861806044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In what context does the writer mention Victoria Pendleton?

Options:

1. = An Olympic champion
2. » Being a champion cyclist

3. v an athlete who looked forward to retirement.



4. = an athlete who could not handle retirement

Question Number : 154 Question Id : 5861806045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why do athletes find it difficult to ask for help?

Options:

1. v They are perceived as being tough people.
2. = They are arrogant about their ablilities.
3. = They have won a lot of medals.

4, = The public knows them well.

Question Number : 155 Question 1d : 5861806046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the writer, which of these I1s important for an

athlete who has retired?

Options:

1. = continued fame and recognition
2. v family and community support
3. = all the past achievements

4. = financial support from the govt.

Sub-Section Number: 3
Sub-Section Id: 586180406
Question Shuffling Allowed : Yes

Question Id : 5861806047 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage to answer the questions that follow.

Conformity, or acting the way most other people in one’s
social group act, often grows out of a person's desire for
security and belonging in a group — usually a group of similar
age, culture, religion, or educational background. Acting
differently from the group carries the risk of social rejection,
a deep fear that many people have. The drive to conform is
often particularly powerful for adolescents, for whom
acceptance by peers can be a primary goal, but it also affects
people of all ages. Some studies suggest that conformity
decreases with age.

Although the word often has a negative connotation,
conformity is not necessarily a bad thing. The tendency of
people to conform helps society to function smoothly in many
ways. Following rules for driving, for example, enables safe
transportation. The tendency of people to follow norms of
interpersonal interaction enables effective communication
and collaboration.

Psychologist Herbert Kelman identified and labeled three
major types of conformity. The first, compliance, occurs when
a person conforms publicly, but privately keeps his or her
own original beliefs. People comply because of a need for
approval from others and fear of rejection. The second,
identification, is conforming to a particular person who is
well liked and respected, such as a friend or a family
member. Identification is usually motivated by the perceived
role model’s attractiveness or success. Internalization is when
people have actually internalized a group’s belief system and
see it as truly their own, hoth publicly and privately. This is
the most profound form of conformity and is likely to stay
with people for a long time.

The strong force of conformity is well documented in
psychological research. A researcher named Muzafer Sherif,
for example, wanted to know how many people would
change their opinions about something because of the desire
to conform to a larger group. He conducted an experiment in
which people were positioned in a dark room and asked to
stare at a small dot of light 15 feet away. They were then
asked to guess the amount by which the light moved (the dot
actually was not moving at all). On the first day, each person
saw different degrees of movement; but from the second to
the fourth day, the same estimate was agreed on and the
members of the group conformed their opinions to this
estimate. Sherif helieved this experiment demonstrated the
way a norm develops in a society, and how people tend to fit
their personal beliefs to that norm. Few people desire to be an
“outlier” whose opinion differs widely from what is typical in
the group.

The “dark side” of conformity has often been explored as well.
The need to be accepted and the fear of punishment for
deviating from group norms can in many cases impel people
to unthinkingly adopt negative attitudes or behaviors. A
phenomenon called the “spiral of silence” can occur when one
opinion becomes entirely socially dominant because those
people who have different opinions are afraid to speak or act
on them. History is rife with examples of mass conformity to
group norms and ideas that were destructive.



Sub questions

Question Number : 156 Question Id : 5861806048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is NOT true about ‘conformity’?

Options:

1. = behaving like others in the group
2. = need to be part of the group

3. v increases the risk of social isolation
4. = fulfils the desire for security

Question Number : 157 Question Id : 5861806049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In what context is ‘rules for driving’ referred to?

Options:

1. v as an advantage of conformity

2. » as a danger of rash driving

3. = as an example of feeling of security
4. = as a primary goal of conformity

Question Number : 158 Question Id : 5861806050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The most intense form of conformity is conformity arising out
of:

Options:

1. » peer pressure

2. = ldentifying with a well- known figure
3. = fear of rejection

4. v holding on to one’s beliefs

Question Number : 159 Question Id : 5861806051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sherif’s experiment shows how:

Options:



1. v a norm gets established in society

2. = people continue to have faith in their beliefs
3. = strong people do not conform to society

4. = people react differently to the same situation

Question Number : 160 Question Id : 5861806052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘spiral of silence’ means:

Options:

1. * when all in a group become silent

2. v when one opinion is allowed to dominate in society
3. = when a group develops negative attitudes

4. = examples from history about group conformity

Question Id : 5861806047 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage to answer the questions that follow.

Conformity, or acting the way most other people in one’s
social group act, often grows out of a person's desire for
security and belonging in a group - usually a group of
similar age, culture, religion, or educational background.
Acting differently from the group carries the risk of social
rejection, a deep fear that many people have. The drive to
conform is often particularly powerful for adolescents, for
whom acceptance by peers can be a primary goal, but it
also affects people of all ages. Some studies suggest that
conformity decreases with age.

Although the word often has a negative connotation,
conformity is not necessarily a bad thing. The tendency of
people to conform helps society to function smoothly in
many ways. Following rules for driving, for example, enables
safe transportation. The tendency of people to follow norms
of interpersonal interaction enables effective communication
and collaboration.

Psychologist Herbert Kelman identified and labeled three
major types of conformity. The first, compliance, occurs
when a person conforms publicly, but privately keeps his or
her own original beliefs. People comply because of a need
for approval from others and fear of rejection. The second,
identification, is conforming to a particular person who is
well liked and respected, such as a friend or a family
member. Identification is usually motivated by the perceived
role model’s attractiveness or success. Internalization is
when people have actually internalized a group’s belief
system and see it as truly their own, both publicly and
privately. This is the most profound form of conformity and
is likely to stay with people for a long time.

The strong force of conformity is well documented in
psychological research. A researcher named Muzafer Sherif,
for example, wanted to know how many people would
change their opinions about something because of the
desire to conform to a larger group. He conducted an
experiment in which people were positioned in a dark room
and asked to stare at a small dot of light 15 feet away.
They were then asked to guess the amount by which the
light moved (the dot actually was not moving at all). On the
first day, each person saw different degrees of movement;
but from the second to the fourth day, the same estimate
was agreed on and the members of the group conformed
their opinions to this estimate. Sherif believed this
experiment demonstrated the way a norm develops in a
society, and how people tend to fit their personal beliefs to
that norm. Few people desire to be an “outlier” whose
opinion differs widely from what is typical in the group.
The “dark side” of conformity has often been explored as
well. The need to be accepted and the fear of punishment
for deviating from group norms can in many cases impel
people to unthinkingly adopt negative attitudes or behaviors.
A phenomenon called the “spiral of silence® can occur when
one opinion becomes entirely socially dominant because
those people who have different opinions are afraid to speak
or act on them. History is rife with examples of mass

conformity to group norms and ideas that were destructive.



Sub questions

Question Number : 156 Question Id : 5861806048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these i1s NOT true about ‘conformity’?

Options:

1. = behaving like others In the group
2. » need to be part of the group
3. ¢ Increases the risk of social isolation

4. = fulfils the desire for security

Question Number : 157 Question Id : 5861806049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In what context i1s ‘rules for driving’ referred to?

Options:

1. v as an advantage of conformity
2. »= as a danger of rash driving
3. * as an example of feeling of security

4. = as a primary goal of conformity

Question Number : 158 Question Id : 5861806050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The most Intense form of conformity 1s conformity arising

out of:

Options:

1. = peer pressure
2. = |dentifying with a well- known figure
3. = fear of rejection

4. v holding on to one’s beliefs



Question Number : 159 Question Id : 5861806051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sherif’'s experiment shows how:

Options:

1. v a norm gets established In society
2. % people continue to have faith in their beliefs
3. » strong people do not conform to society

4. = people react differently to the same situation

Question Number : 160 Question Id : 5861806052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘spiral of silence’ means:

Options:

1. = when all in a group become silent
2. v when one opinion Is allowed to dominate In society
3. * when a group develops negative attitudes

4. = examples from history about group conformity

General Hindil

Group Number : 9
Group Id: 586180290
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
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General Hindi1l



Section Id : 586180294

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180407
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861806053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taferar T gree; 37

Options:

1. » dcdd
2. % dogd
3. = Tace

4, v T

Question Number : 161 Question Id : 5861806053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o Sar o &7

Options:

1. = dcdHA

2. » d&d

3. = facef

4, v 2erel

Question Number : 162 Question Id : 5861806054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 & T DI 9T 2Tec, dogel g7

Options:

1. = TR
2. v Tl



3. % I/
4. % TgH

Question Number : 162 Question Id : 5861806054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o § O Hid T o5 did &7

Options:

1. = T
2. v IHI

4. = PIgH
Question Number : 163 Question Id : 5861806055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mg & T DI 9T e Tcgu g7

Options:

1. v&~d
2. % 2@l
3. * qHI
4. = Y

Question Number : 163 Question Id : 5861806055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT # & T IOT s dcaH &7

Options:

1. v Ged
2. % T@r

4. = g4
Question Number : 164 Question Id : 5861806056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Y ¥ T g ad=t arelT <Tec; 3

Options:

1. * TgHia
2. = TCMa
3. v yTgHia
4. « wigw

Question Number : 164 Question Id : 5861806056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farT & & g ader arelm orse &:

Options:

Question Number : 165 Question Id : 5861806057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3TesT — 3[ec; e, T @I gl 31 3

Options:

1. » T — e
2. ® dTcel — hHel
3. ¥ DHdA — dIce
4, = N — &T¢el

Question Number : 165 Question Id : 5861806057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘35S - 37sq’ UsE JIA FT Tl 379 &

Options:

1. = el - 2Tsg

2. % SIGel - hH




3. ¢ hH - Fcl

4., = HPN - Il

Question Number : 166 Question Id : 5861806058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Teaige’ Thd Y df T 52

Options:

1. * UeTdara®
2. ¢ HIddTh
3. = STqaTd

4, * S hdTd

Question Number : 166 Question Id : 5861806058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ToTge T Ueh hT AT &7

1. = ggriaraeh

v HTddI<l<h

2.
3. % Sddrde
4. » TTFdGTdh

Question Number : 167 Question Id : 5861806059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

S GeATH BT TIATIA eI TS g7

Options:

1. = ST
2. % 3ddTl
3. = fqa=r
4. v ST

Question Number : 167 Question Id : 5861806059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




S TEATH T GRATUERS [T &7

Options:

1. = SgaT
2. % 3ol
3. » fader
4. v Tadgar

Question Number : 168 Question 1d : 5861806060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GSler Tehg YR T TaQuor g2

Options:

1. v TUraTe®
2. = UHATUT &TEeh

3. » YIRS

4. » EIATID

Question Number : 168 Question Id : 5861806060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geter Tohe g T faeror g7

Options:

1. ¢ JGEISES
2. % TIATOT sk

[ i
3. & HIdeAT[Hh

4. » gEATATIH

Question Number : 169 Question Id : 5861806061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # armdd UTq B

Options:

1. * TeTTSAT
2. % ThedT




3. v e
4, = GreT

Question Number : 169 Question Id : 5861806061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

freT & sthash aTq &

Options:

1. = TSEMTSaT
2. = UTaT
3. v T&ger
4. = el

Question Number : 170 Question Id : 5861806062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“STSdT therel Toioelldl gl aTad # TohaT fereiymr g

Options:

1. * oTS@T
2.« helel
3. = Toorrdr

4, = 3l

Question Number : 170 Question Id : 5861806062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TShT shadl eardrl gl’ aaa # Frar foevor &:

Options:

1. = oISehT
2. v hdel
3. = Reermar
4. = gl

Question Number : 171 Question 1d : 5861806063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘FeaIe; T & ferese, gim:

Options:

1. v BId + 3T

Question Number : 171 Question Id : 5861806063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T AT T sl

Options:

1. v 3fad + 31fg
2. = 3T + 3MEr
3. = BT + 37
4, = T + ST

Question Number : 172 Question 1d : 5861806064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H DI T JATY 72

Options:

1. = gz
2. % &g

3. % T

4. v Igeiiig

Question Number : 172 Question Id : 5861806064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HAAT H el T AT &7

Options:

1. dcgsy
2. = 3ged

=

=




Question Number : 173 Question 1d : 5861806065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ¥ Ty IUw BT UGN 3T 32

Options:

1.9
2. v Y
3.+ qq
4. % g

Question Number : 173 Question Id : 5861806065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘m’ﬁﬁmmﬁwmgmﬁ?

Options:

1. = &
2. v OH
3. = A
4. = I

Question Number : 174 Question Id : 5861806066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

et HT H Tehd Tea T UANT 3T 32

Options:

1. =¥

2. % AT
3. v SHT
4, = =t

Question Number : 174 Question Id : 5861806066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AeAT # T IcaT 1;|'€|’I?T§31T%‘?

Options:

1. = H
2. = HI

3. v SHAT
4, = &T

Question Number : 175 Question 1d : 5861806067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 91 e el 32

Options:

1. » <
2. % B¢
3. % B
4, v Biar

Question Number : 175 Question Id : 5861806067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

famT # O hieT Ir 2eg EHITeT &7

Options:

1. » Seq
2. = 3%
3. » B
4. v &F

Question Number : 176 Question Id : 5861806068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mell § Ul D The Tea=e BT 3L 82

Options:

1. v 3T U=
2. % G-H Uca¥




3. » TI9IUT UcE=er
4. = TR Uce~e

Question Number : 176 Question Id : 5861806068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & "o Hleleh’ FT Ueded &1 3SIEI0T &7

Options:

1. v FaT Ugded
2. * HAIH Ugeed
3. = T99IYUT Uygeeyy
4. = ToRIT UgEeY

Question Number : 177 Question Id : 5861806069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ag Goed, TSIqHT G AT, Tg ol Wi ST Gl g1’ amard § THaAT el
AT T YT T ST 372

Options:

1. » 9T IUATFT

2. % TohdT IUaTFg

3. v TaSiyur IuaTar

4. = T T IuaTad

Question Number : 177 Question 1d : 5861806069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 Gool, [Sdelr Goat AT, T8 Gol #1 3ol Foel &I arery A
ICGGI Heel AT FE Yop T 3UareT §7

Options:

1. = AT 3UdTey
2. = TohaT 39T
3. v [QAYUT IUgrey




4. = ToraT @EVUT U

Question Number : 178 Question Id : 5861806070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

B T 7T 2[epT, S o 3ATATI’ Tehd YehIR BT ATF 3 7?

Options:

1. = 3T qTH

2. * ol dTHy
3. * G aTdg
4. v Y a9 g

Question Number : 178 Question Id : 5861806070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H AT AT HT, T TE AT FRA TRR KT AHT §?

Options:

1. = 39 dTd

2. * lol Iy

3. = H-gci—d GIERS

4. v T8 gy

Question Number : 179 Question 1d : 5861806071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T &8 I I 9T a1 e 37

Options:

1. + T ST @
2. « T A T
3. « T AT G B 22
4.« G T a9

Question Number : 179 Question 1d : 5861806071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeshA T ECC A e AT AT A §7

Options:




v &7 draT ar @ &7
« T A& &I & Arar?
Trar a1 ar wr g7
= @ @ & 9 are?

Question Number : 180 Question Id : 5861806072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T Pl &8 & I AT AT g 87

Options:

1. » EIUeh = T 31 HE HieT Te1dTl
2. v CIUS 7 T 3 HE Hiel ol
3. * EIUeh MY 3T A Alef Tl
4. = YD 7 MY 37 HF HieT ol

Question Number : 180 Question Id : 5861806072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hedd T TOC @ Hlel AT dATFT UG &7

Options:

1. = Q9eh o T AR HF Arer Teram)
2. v g9 o I 3N dF Al @l

3. = &I9eh o I 3K ST Aer o)
4. = Uk o T R AT Arer @

ol
#®
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Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861806073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘PUST DT TATIATT &
Options:

1. * 9k
2. v AR
3. = Taey
4. % qg

Question Number : 181 Question Id : 5861806073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SUST KT YA &

Options:

1. » @R
2. v IO
3. » Tdeu
4. = O

Question Number : 182 Question Id : 5861806074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Frerely &7 T T 3

Options:

1. * cIi#AT
2. % disd
3. v e
4. % UTYYT

Question Number : 182 Question Id : 5861806074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TosTell’ T U 8l &

1. = AT
2. » disd
3. v TeH
4. = ETUTYHT

Question Number : 183 Question 1d : 5861806075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“JATSAT ThgenT TITAATT 372

Options:

1. v 90T
2. % Topeur
3. = gad
4, % dlellel

Question Number : 183 Question Id : 5861806075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v STOT

2. % TerqoT



3. = Jad
4. = TTelTs

Question Number : 184 Question Id : 5861806076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ThgdT AT g2

Options:

1. » Qo0
2. % Tdd
3. ® §T¢el
4, v Y

Question Number : 184 Question Id : 5861806076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1.« o0
2. = qdd
3. » dlgel
4. v §HZ

Question Number : 185 Question Id : 5861806077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Options:

1. = TIG®
2. % 95
3. {X
4. v TE

Question Number : 185 Question Id : 5861806077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1. = ferareR
2. % JSS
3. = AN
4. v I

Question Number : 186 Question Id : 5861806078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I DT Tdelld SIee; 3

Options:

1. » 9T

2. % M<T

3. v 3&d

4, * IR

Question Number : 186 Question Id : 5861806078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I & faeH =g &

Options:

1. = &
2. « g
3. v 3¥Ed
4. » IR

Question Number : 187 Question Id : 5861806079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T e EA

Options:

1. v 3feeds
2. % TG



3. * YepIUi
4. » gerEhiia

Question Number : 187 Question Id : 5861806079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘aiﬁa-l“wem’ T Taeltd gEm:
Options:

1. v dH

o,

2. » Teld
3. = YehlUTal
4. » FEEGIfT

N

Question Number : 188 Question Id : 5861806080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e thgar w32

1. * I
2. v 3chE
3. = 3reW
4. % T

Question Number : 188 Question Id : 5861806080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = 3cah¥
2.
3. % YA
4.

Question Number : 189 Question Id : 5861806081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“Yeh THT < IHT ST BT YA 21’ Uieh & 3@iTchd e, T TAeTId I

Options:

1. v &g

2. * Gl
3. » Wl
4, * Yidda

Question Number : 189 Question Id : 5861806081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HeFc AT AT ST T AT &1° Glehed & I@Tehel 2Tee;
ST Sentd ghem:

Options:

1. v dg

2. % TEE
3. % TgTcelel
4, = Uaeg

Question Number : 190 Question Id : 5861806082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frer a7 e 2

Options:

1. » e
2. % e
3. = e
4. v ariad

Question Number : 190 Question Id : 5861806082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Oiger T el H &

Options:

1. = drorg



2. = fepellT

3- % EI | g.

4. v ardey
Sub-Section Number: 2
Sub-Section Id: 586180409
Question Shuffling Allowed : Yes

Question Id : 5861806083 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension

STl e MY MENTer @l Ugehd U8 T T[T & I ¢y

IR TETDToI T QIS § SGT Sl 4T, ol Qe aeq & AT 3 po 7
ot agT Ut Uit Ua fererarart & [ad sredd =i &t 397 felw
AT § IS STTg gl AT 3R & AULp AT SA1dt i1 gradare, bt &t
T STt WA Yer Tuid &7 2T ATl YR, 9l Tg1-9g- Ud Sile
dht GgaT [ThaTaT UT ST HoIX Yiaarer AT HIXT TIT Stra gt Sirall o o
Te IThT ST BT TAUE BT gl BT JTHAATE FlGd! il dis & (o]
arg & g [Hepet 3MMS, T YA § Tep T 9lTel SIETel # ogd a2
ST JoTE P, TSI Tg SITEH AT GTATISIR T8I Gi @1l HRT Tehitden
Wich 7 ek GTy-Fdl & dler TR PO § ATYAUTAT STISa Tid Bt widh
AT g1 TIEIETT STUHT 3T T STa Yieh | ol W@y, B & 86 T TD
rear & TUT B TRT i Tith YT T AT a1 o, died GIRT DT 59
TR AT & AT Meher=T ITE-GATST & Sl ST 0T Ta1 o HIRT
A T TATET & e, TR & TgT i1 I T ehepi—er gt Tgr T o
el QTHAETS] A1 T THTST HIRT & Yidgel AT T HIRT T AT TRW
1T § 37R WIRT U YTdeel e S1d 3, TgT ad 1 3hT gedT da T T
T STTaT Bl

Sub questions

Question Number : 191 Question Id : 5861806084 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TR BT AT 3

Options:

1. = 3MicaTeT
2. v YichahTel
3. = qTdadrer

4. = 3MYdheter

Question Number : 192 Question Id : 5861806085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A pr 37 B

Options:

1. % TET
2. % ATeliepT
3. v gfaar
4. % S&IT

Question Number : 193 Question Id : 5861806086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETTSr § U ‘ot <l 37 3

Options:

1. v GESH
2. % GEQUY

3. % AN

4, = T

Question Number : 194 Question Id : 5861806087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T 319 3

Options:

1. = &I

2. * AR
3. v A



4, % 3P

Question Number : 195 Question Id : 5861806088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR T 3T 3

Options:

1. » Qg9
2. v Gd
3. » e
4. % WIICr

Question Id : 5861806083 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

AT HETeRTollel HATST H STE1 T Y, =T vd a&g &
fafitea 3R F& & 1 ggr ofd aRcgea va fauanst <
Rufa 3caa e oYl 3o oI TATT & R 918 oo o7
3R T 3IRIF ATl ST ATl @AEcaTg UHT [EAaT FT Siae]
AT Ua GO SelT T &AT| SR, #Hislel, IGoI-Hge Ug
Siidel hT TEST AT T SHAT FoR Ufaayd T ART AT
Siael sTal Siidl| @ U U 3elchl SIGEAT T G Hldr &l
AT GFETART §edl I diger & fore g & o8t fode
3, Uh Wb & Uk [demer Seeree & SRSACE] STEH
3STRT e TSi1 TE SITEH AT HTATGTR Ulsar Fle Il AR
UehIfcIsh HFd o FTh ATY-HAT & & 3RT F0T &
ATYAATTAT SISHFT Wi T $AfFd FIAT &1 [agare 19«7 3wt
FT SAdel HTod H ol IGHT, hled A 5 FATT Hh hicar 2T
TOTT =hT ART hT HiFd HGaT d THEIT gl 21, Sfesh HRT hT
=H Wb {oard & STgY folsholell HI-HATST o Il STl 37es
sl oTa| mﬂ;ﬁ‘cﬁrmﬁ‘aﬁmm ROT Y Tar o7 o
ST ollehfolar &I I 27| 0T U HTHTAET Hellglcd hT HHATS
HRT & wfciepel AT T ART 1 SAT TR BT § AT AT
Uiaee RN ST &, TGET doh [oF 3eTehl AT dek T W fomaT
ST &

Sub questions

Question Number : 191 Question Id : 5861806084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ART FT AT &



Options:

1. = 3TTEehTor
2. v HAldderd
3. = JITdehTel
4.

® H%mﬁlwclwlol

Question Number : 192 Question Id : 5861806085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 7T &

1. = &l
2. = HTolfehel
3. v ATdRT
4. = T

Question Number : 193 Question Id : 5861806086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H TGS Fel T 3T
Options:

1. v HTdAlad
x FFOT

2. T
3. AT
4. % 2T

Question Number : 194 Question Id : 5861806087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g g &1 3T &:

Options:

1. » @A




2. » SIldN
3. v IaW

o
4., = TR

Question Number : 195 Question Id : 5861806088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NTEH T AT &

Options:

1. = &

2. v T

3. » BT

4, = WIIal
Sub-Section Number: 3
Sub-Section 1d: 586180410
Question Shuffling Allowed : Yes

Question Id : 5861806089 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

TEaT T &l Uep @I &1 A T8l Toh 5 GHT T ST Bl
TRUTET el [SIg<hT iduta M Aliged ST & glal gl Tgae, I H
JeTTcH AT BT ATUR FUiATeHed AT 3R ag ThdT FiigcddR o 95
AT TRAT I PHAR FTTed BRAT PO 59 ThR Dl YT aTeil &1 Tg SATeAraT
Teh T Hligicdeh TdTe, thl T 3MeltaT #f 3T Bl gl TIAd: 1907
g0 H U7 g AT 7 TEagr 3R W™ diar “qre)” &l geor-r drl 1910 So &
Torer siyart 3 31U+ YA SMMelioT U fgwel Tekd ¥ fg=at & At &1 Hiadl
@ SMTHET ThaT I IIT T TR T TATE aF [T AT ST R0
Jrgiv Tg! &A1 TAT JerdIe 3T LT i HGTCHT Dhgeht Jechl gl
Tt |t i T 31 Bl 24T 360 § ST = diad! § ST & 3T o
3N TEIgTe U= o7 3R & & 95 Uee=dl & B0 &a &l 3-gi+ 68 4 aa7
ial SO [hATl ST YiashdT Taey Ua] [4g T = Togry 9a9s” &t
qETET AT FAELAT, MAT FHLAT 3T JWAED AdDh T Pch g dr YT
TG O GAYT Diah TTud [hdTl Gad 4Tl TidishdT A Heur gt g =

e IR TAgRY Tolga &a of Tgt ¥ ST diek a1

Sub questions

Question Number : 196 Question Id : 5861806090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITST T auy w2

Options:

1. = YichaTel
2. % JATddrer

Question Number : 197 Question Id : 5861806091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

qieuTer” or 31 a1 &

Options:

1. = gar



2. % &I
3. = il
4. v YT

Question Number : 198 Question Id : 5861806092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT U’ T 37 a1 gidr:

Options:

1. = Wg
2. % THIPR
3. v e
4, = U8

Question Number : 199 Question Id : 5861806093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U7 g ST 7 TR T & GAYS Hid [hd eniud fhar?

Options:

4. « I

Question Number : 200 Question Id : 5861806094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS & Y& # DI 9T AT Teld 872

Options:

1. v PO TgRT Y T TEgIR B Jer T G 9 il

2. % Tgwc, Tokd ® Y iardl Bt AR T 7Tl

3. » TRy Tyl ¥ LY 3R Terd1eTH Bl Jol-T I Bl § gl il
4. = TEAET I # ToTTcAh 3MTell<I=T T Telehld g3l

Question Id : 5861806089 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Question Label : Comprehension

sirer fe=t aTT AT T Tt U5 I Te&Al & S e’

fe@aer Jor 1 Uk W S Ag G R 57 GAT JelellcHE
AT T aRUIET Trelr foreehr gfaufea smyfae anfgca T
H gidr &1 fegdel o1 # JelellcAs  TelidsiT T 3TN
foroTaTcass o7 3T ag fordr arfgcgsh & 95a ar fpar &
FAR TIET FIAT FS 5T TR HT Ggicd arelr ATl Ig
AT Ush YHE Alighicdeh faarg T qeasfa ielar A
T AT &1 gUAT: 1907 fo H ww g oAt F ey 3w
RET Sid FET T JelalT T 1910 g0 F A5 aysi o 319
qTEg 3Teliaar o2 Beal dalced H T&eal & il §3 FIdAT Il
ofTfHel TohATI 3aTeh T T YR TohT Wb dF ohdT =T
SHRT FROT 3egld gl CdT Jo4T Jerded 3R T
HETCHT Fghl Salerl Jolall Tohall oY *id & =6l F11 38T A A
AT T R H SIS AT a7 29 AT ey av ar 3ix
2d & IS YSaedl & FNUT 3d I 3eald T§@RT & 37 Sid
ST RTS8 UTafshar T@sg 99 &g AT o Sadr 9998
hT ToTelT AT FecTerey, amerT Feaerdl 3N HATE ocdd &
e HERT T SR TH T JOAS Hid DT fRaAT| Faad
gdT 1 gidfshar A Foor fSgrT A & 9’ 3 Tagrr fermsht
g ! T9gRT | &8T Hid 7T

Sub questions

Question Number : 196 Question Id : 5861806090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IETeT T GUF TawyT &:

Options:

1. % STTFcIohTel
2. % JTcepTer
3. % EHNdr% gl

4. v Te@acr gar

Question Number : 197 Question Id : 5861806091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RUET =T 37 8T &

1. = 9T

2. % &Il
3. % el
4. v g

Question Number : 198 Question Id : 5861806092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gidufca” &1 3727 8T g

1. = Jaur
2. % FEIAR
3. v Taser
4, = YT

Question Number : 199 Question Id : 5861806093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ul g AT o AR TH HT GAASS Hid Thd TS forr?

Options:




1. = 2@

2. v foaEnT
3. = JoriIEE
4. = TIEH

o,

Question Number : 200 Question Id : 5861806094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT F G&H H Fiel AT FUe el 27

Options:

1. v 0T SglT @4 & oY $r1 Jelar @@’ & |

2. » T@edl daiceal H al HIIIT T MTHS ThIT AT

3. = s a3l of grad 3R Jerer I Jelal gay ®iadl &
oTGl |

4. » TCTAST JaT A JelellcA® 3Telell T a3
O




